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CHAPTER 1: NUMBERS

1.1 Numbers up to 1 million
B 1 block = 1 one

Group of 10 blocks = | ten == = = = e

Ahmad has 26 marbles.

How many tens and ones are in 267

?6

2 tans 6 ones

EEEEER 26 = 2 tens 6 ones
26 =20 + 6

In words, we read and write it as twenty six

When we group 10 tens together, we get 1 hundred.

How many hundreds, tens and ones are thara in 2417

:.*
q—"‘""""-_ h-""""‘-*

There are 2 hundreds, ' tens and | one in 241,




Lock at these coins. The number on each coin shows its value.

. One |I'fﬁ"‘ Ten e Hundred

Let's write 241 according to the place value of its digits.

Hundreds Tens Ones
06| o
2 " 1

241 = 2 hundreds + Y4 tens + ] gnes
= 200 + 40 +1

In words, we read and write it as two hundred and forty one.

i Identify hundreds, tens and ones in the following numbers and
complete the table.

Hundreds Tens Ones

171

19



Group of 10 hundreds = 1 thousand =1 000

There are 3 2584 students in Ali's school.

il 312 ﬁ{\

There are 3 thousands 2 hundreds 9 tens and 4 ones in the number 3 254,

Thousands I Hundreds Tens Ones

SR, ‘"'.-.. .'T-:!"r'-
o o B 0 10 0 | @) @D
500 ® o0 0@
|.|.

3 I 2 5
Digit 3 is in the thousands place It hos a value of 3 000
Digit 2 Ie in the hundreds place It has a value of 200
Digit 5 is in the tenz place I+ has a value of 50
Digit % 1= in the ones ploce It has a value of 2

3204=3000+200+50+4

In words, we read and write it as three thousand, two hundred and fifty four.

There are three thousand, two hundred and fifty four students in Ali's school,



Can you read and write a number with 5 thousands 6 hundreds
2 tens and 4 ones?

9 thousands 6 hundreds 2 tens 4 ones

ke

5624
5624 =5000+ 600 +20+4

In words:  Five thousond, six hundred and twenty four
In figures: § 624

The school library has 12 635 boocks.

Look at the piuce value chart. e _- —

Ten Thousands| Thousands | Hundreds Tens Ones
» o®®%%00:09®

100100 100 @8

] 2 G 3 5

i, b hundreds, 3 tens and 5 ones.
»000 + 600 +30+5

In words: Twelve thousand, six hund
In figures: 12 630

-

Identify the place value of all digits in 93 465.

There are ten thousands, thousands, hundreds,

A | L]



Group of 10 ten thousands =

S86@
0000 -
HES

100 000 is written ond read o8 ane hundred thousand
Identify the place value of each digit in number 215 678.

Hundred Ten
e Thousands | Hundreds Tens Ones
e ] 5 6 7 8
216 678

2 hundred |ten 5 thousands 6 hundreds 7 tens & ones
thousands thousand

215 678 =200 000+ 10 000 +5 000 +600+ 70+ 8
Inwords: Two hundred and fifteen thousand, six hundred ond seventy eight.
In figures: 215 678

If we have ID hundrad thousands, we get 1 000 000.
ﬁmmﬁ zﬂﬁﬁ aﬁ?&w

__a--l-\_

100000 m&%ﬁ ﬁm@ﬂ

SE— 1000 000

We will leave a second space between hundred thousands and millions.



Tﬂble shows distance ha‘lwaen moon und earth in |-:i|nmafrua.

Can you read and write the number in words and figures?

Millions Tzléiméu h:uilndﬂ Thousands| Hundreds | Tens | Ones

3 4 5 1 9 8 2

There are 3 millions, 4 hundred thousands, b ten thousands, | thousand,
9 hundreds, 8 tens and 2 ones in this number.
We read and write it as:

Irn words: Three million, four hundred and fifty one thousand, nine hundred
and eighty two.
In figures: 3 451 982,

Let's look at the place value of each digit in the number 3 551 982,

Digit 3 is in the millions place It has a value of 3 000 Q0O0,
Digit 4 is in the hundred thousands ploce It has a value of %00 000,
Digit § is in the ten thousands place It hes avelue of 50 000
Digit 1 is in the thousands place It has a value of 1 000.
Digit 9 is In the hundreds place It has a value of 900,
Digit 8 is in the tens ploce It has a value of B0O.
Dlgﬁ' 2 is in the ones plucu It hae a value of 2.

3 451 982 = 3000 000 +400 000 +50 000 +1000+300+80+2




-

Identify the place value of all digits in 12% 756.

Thereare________ hundred thousands, ten thousands,

thousands, hundreds, tens and ones,

Complete the place value table for 9 871 203 and write it in
expanded form,

Millions Tl::::;:is |'u:-||;_g5r|un £ Thousands| Hundreds | Tens Ores

9 000 000 + + + +200+0+
\Write 935 432 in words.

Write five million, three hundred eighty two thousand, four hundred
and thirty three in figures.

L

Group of 10 millions= 10 000 000
There are 25 450 6035 people In a city.

Let's write the number according to the place value of ite digits,

Ten | Hundred Ten
Milliani Milllons il e Theusands| Hundreds| Tens| Ones

26 460 606 =20 000 000 + 5 0C0O 000 +400 000+ 60 Q00 +
0+600+0+5

In words: Twenty five million, four hundred and fifty thousand, six hundred
and five.




Group of 10 ten millions = 100 millions =100 000 000

Let's identify place value of each digit in the number 523 129 728,

Ten

Millions

Hundred
Milions

Thousands | Hundreds| Tens | Ones

Hund radJ Tan

M.ll-
”IDHE‘Thnuannd Thousands

e 2 7 2| 8

There are 5§ hundred millions, 2 ten millions, 3 millions, 1 hundred thousands,

2 ten thousands, 9 thousands, 7 hundrads, 2 tens and B ones.

523 129 728 = 500 000 000 + 20 000 000 +3 000 000 + 100 Q00 +
20 000+ 9000 +700+20+8

Let's read and write the number.

In words: Five hundred and twenty three mi||5inr|, one hundred and twenty nine
thousand, seven hundred and twenty Eﬁght.

In figures: 523 129 728

il R’

Complete the place value table for the number 182 246 342,

Hundred| Ten Hundred Tan
ili Th ds | Hundreds| T 0
Millions [Millions Millions R | R— ousands| Munareas| lens fUnes
2

Write 182 246 342 in words.




Exercise 1.1

ACTIVITY

Ahmad has some digit cards.

He can make different 5-digit numbers.
Write down any five numbers he can make.

2088l

1. Write the place value of underlined digits.

REMEMBER
R ot | | NS
a) 72 _70 g) 9991324 ﬁg&'*’“&“ﬁ%
b) 867 — K 7086904 —

o BB . i) SOV —

d) 8910 — ) 58724098

&) Y7613 _____ k) 6253911156 —

f) 612731 ) 709020 168

Write each of the following number in words.

~

~) a0

d) 19 412
) 583614
f) 2444719




J)

k)

33 690 132

65 198 876

320 790 080

Write the following numbers in figures.

Five hundred and forty three.

Nine thousand, two hundred and fifteen,

Seventy one thousand, two hundred and nine.

Mine hundred ﬂigh'l'yr one thousand, five hundred and sixty three.

One hundrad thirty thousand, four hundred and twenty one.

Five hundred thirty two thousand, one hundrad and one.

Seven million, five hundred seventy six thousand and fifty four.

Nine millien, eight hundred six thousand, five hundred and eighty five.

Mineteen million, eight hundred seventy three thousand, five hundred
and twenty one.

Thirty one milllon, twe hundred fifty six thousand, seven hundred and

’rweni-r one.

Six hundred and fifty three million, two hundred and seventy twe
thousand. four hundred and thirteen.

10



4. Inthe number 845 296 000,

a)
b)

c)
d)

e
9.
a)
b)
c)

d)

f)

a)

h}

The dlgif is In the millions plucn.

The place value of the digit 8 is

The place value of the digit 2 is
The digit 7 is in the place.

The digit is in the thousands ploce.

Complete the following:

5 814=5000+ + 10+ 4
12718 =10000 + —_____+700+10+8
2303 820 = + 300 000+ 3000+ _____+20
8517 342=8 000 000 + +10 000 + +300
+40 + 2
6532 171= + 500 000 + 30 000+ + 100
+70+
25 479 600=20 000 000 + +400 000 +70 000
+ +600
37 164 563 =30 000 000 + +
+60000+4000+_____ +60+ 3
364 176 321 = + + +
+ + + + +




1.2 Number line

Ali and Sara are holding a number lina.

The number line shows numbers from left to right == in order from

ameaslladd 4k seaslaat il sl avccacs

You can ses that every number that apy
all numbers on its laft,

Let's circle number 5 on the number line.

B T e
g1 2. 8% 906 T 8% W

5is greater than avary number that is on its left and 5 is smaller than avery
number that is on its right.

Now, look at the number line below. Ahmaod skips over 2 spaces to
go to 2,

Let's find number 3 on the number line.

Since. number line shows numbers in or

the line marked between 2 and 4 shows ..._ .._...__. _.

When we have to go to bigger numbers on the number line, we con alwoys

skip over equal spaces.



Identify number O on the following number line.

a 3 & 9 12 13
I 1 L 1 !ml 1 ] [ 1 1 | 1 1 1
* 1 1 J 1 I:I'\\_:_./'JI 1 I I 1 L ! 1 1 I F ’
T There are two
B i itk 8 vertical lines between
J 1B O B8 Thor ; ] -
Count one step bockword, 0and 3, Tﬂpl’lﬂ_;ﬂﬂng
9 is 2 more than 3. two more numbers
| and 2.

Count on two steps farward.
Show 15, 20 and 30 on the number line.
Tﬂ Bh'ﬂw Thﬂ‘ﬂﬁ num birﬁ wWa Con dﬂ;‘l'ﬁ' ﬂr'l':f numbﬂ‘r lini

that goes to at least 30. Let’s skip count by 5.

——
0 b 25 30 35

10 Iflﬁ ’Eﬂ' ’

We have represented all three numbers on the number line.

s

Represent 20, 40 and 50 on the following number line.

Identify the value of the number where the butterflies are sitting.
0 10 20 30 40,30 60

1:::*:::::*:::*

Since, numbers and the vertical lines on a number line are equally spaced,

one line between O and 10 meansa O

The first butterfly is sitting at 15

The second butterfly is sitting at

e,




Exercige 1.2

1. Draw the number lines and represent the following numbers.

+
al 2, %and 6 0 1 2 3 4 4] [+ 7

m-

b) 9. 10 and 15
¢)] 10 and 25
d) 4 8and 20
e) 20 and 40

f) 30,40 and 60

2. ldentify the value of the number where the frogs are sitting.

8

T T T T 13 T L] : "
0 | 2 3 b § ] B 7 3] 9 10

o] A—————— i ——————
10 20 a0 40 a0

) +—+ t IS, ! TR S R
0 10 20 30 40 50

d) i " t : : } " ! " 5
0 8 16 24 32 40



1.3 Comparing and ordering numbers
Ahmad has 22 toffees and Ali has 15 toffees. Whao has mere?

$397333938F | |P888288408¢
28838329988 | 8444

22 is greater than 15.

15

We can alse campare numbers by comparing the digits in the highest place
value only. 2 is greater than 1. Se, 22 is greater number than 15. We can also
write it as 22 > 15. So, Ahmad has more toffees.

When comparing numbers, we compare the digits in the highest place
value first. The number with greater digit in the highest place value is the
greater number.

| ) Wéﬁﬁ*’ |

Which number is greater, 198 or 3287

Let's compare the digits in the highest place value.

3 hundreds s greater than 1 hundred. Husciadil Teie: | Oriai
So, 328 is greater than 198. 1 5 5
We can also write it as 328 > 198, 3 5 g

Which number is smaller, 63 163 or 98 1637

Let's compare the dlgiiﬂ in the highau’f Plu{:ﬂ value,

& ten 'r|1-n~unnn-|:|a 1] amn"ar ﬁ'lun 9 tan Tan

il ThwaundJHundfﬂdaj Tens | Unes
thousands. So, 63 163 1s smaller than |-
& 3 ] & 3
98 163. We can also write it as: 9 g [ & | 3

63 163 < 9B 163.




Which number is greater, 47 453 111 or 88 445 6227

Ten Millions Hundred Ten Thousands| Hundreda | Tens | Ones
Millions Thousands|l housands
H 4 5 3 ] 1 1
g A 4 Y B b 2 2

Let's compare the digits In the highest place value.
8 ten millions >4 ten millions. So. 88 445 622 > 47 453 111

Compare the numbers and write "> " or "< in the middle.

% 369 3863 234569 613 679 23 1B7 345 91207 %00

Compare 7 198 and 7 283.

Let's compare the digits in the highest place value.

Both numbers have 7 thousands. So, we move on ThousonddHundredd Tansl Grasl
to next digit and we compare the hundreds. 1 < 2. 5 5 g| B
So, 7 198< 7 283. ! e L8 ¢

When comparing numbers, if the digits in the highest place value are same,

we continue to compare untill one of the digits is greater or smaller.

Which number is greater, 32 984 312 or 32 935 0117

Let's compare the digits in the highest place value. Digits in ten millions place,
millions place and hundred thousands place are same in both numbers. So, we
compare digits in ten thousands place.

8 ten thousands >3 ten thousands.

So, 32984 312 > 32 335 011



~

ompare the following numbers and write "> " or "< In the middle.

IELHEED 12 489 87 ‘IEBE:IIDB? 011328

Sara has 12 marbles and Anum has 9 marbles. Who has more?

12 ¥
12 > 7

12 is greater than 9. Se, Sara has more number of marbles.

Which number is smaller, 1 219 or 3257

Let's compare digits in the highest place value. |Thousands|Hundreds | Tens | Ones

The number 325 hos no thousands, 1 2 ] 9
There are O thousands in 325. a 3 2 5

Remember we can write as many zeroes as we want on the left side of o

number.

0 thousands is emaller than | thousands. So, 325 < 1 219,

Which number is greater, 1 324 660 or 32 100 789 ?
There are 0 ten millions in 1 324 660.

3 ten million » 0 ten millien.

So, 32 100 782 > 1 324 660.

i ™

Compare the numbers and write “>" or "< in the middle.

6110 112 29776 I:Iesc: 117
41 BRO D 241 721 71876 953‘ 200 701

oy -




Ordering numbers

There are four schools in a city with different number of students,

School A School B School C School D
9 000 7 500 2 B00 3 000

Which school has the most number of students? Which school has
the least?
9 000 is the greatest numbaer. School A has the most number of students.

2 800 is the smallest number. School C has the least number of students.

Can you order these numbers?

Let's arrange the numbers from smallest to greatest.
Write smallest number first and greatest number at the end.

2 800] |3 000] |7 500 |19 000

If we write the smallest number first and the greatest number at the end,
it is called increasing order or ascending order,

Ascending crder

Daanendlng arder

We can also arrange the numbers from greatest to smallest.

Write the greatest number First and the smallest number at the end.

9 000) (7500) (3000

If we write the greatest number first and the smallest number at the end,

it is called d&crﬂusing order or dﬂscandlng arder.



Can you arrange the following numbers in ascending order?

956248 910, 9 2B6 344 and 56 382 193

M;:IT:M Millions '::::;ijs Thu:::r.d.rl Th:}usundal Hundreds | Tens | Ones
0 6 ’, Y g 9 i 5
: : - é 3 § |
5 3 G 5 | : =

Let's start from the highest place value. § Ten millions 2 O ten millions. Se,
9 286 344 is the smallest number.

Now, we compare 56 248 910 and 56 382 193.

Ten millions place is same and one millions place is also the same. So, we
move to hundred thousands place. 3 hundred thousands is greater than 2
hundred thousands.

S0, 56 382 193 > 56 248 910

Let's arrange these numbers in ascending order,

Write the smallest number first and the greatest number at the end.

9 286 344 56 248 910 56382193  <oul
i -
i’ R

Arrange these numbers in ascending order.
246 989 435123 289 909

Arrange these numbers in descending order.

24 653 900 78 542 121 12 432 677




Exercise 1.3

ACTIVITY
Ali has these cards.

What Is the greatest number he can make?

1. Compare the numbers and write “>" or "< " in the middle.

a) J4o - 1 806

b) 6 B90 6017 Ir‘ﬁﬁ-!ﬂ'ﬂﬂ“- | Eﬂ'

c) 23 765 12 789 ntﬂnhﬂ#ﬁﬂﬁﬂfhﬁ':f test

e) 132 302 432 411 '

f) 2 645 789 3 942 000 I

k) 99 654 323 99 894 121 'mhﬁﬁﬁr;aﬂ the smallest
nu#nhirﬂﬁ'ﬁinﬁﬂ'ﬂh‘rﬁﬁiﬁﬂ

D 321664213 [ ] 321664379 | yeucending order.

2. Arrange the following numbers in ascending order.

a) 238 141 634

b) 6 157 3 164 2157

¢) 53231 23 451 99 864

d) 846 123 914 675 871 452




e) 1 423 431 6 153 540 6 879 892
f) 235 211 999 111 232 000 321 342 121
g) 26 432 419 999 123 156 100 23% 456

3.  Arrange the following numbers in descending order.

a) 238 141 634
b) 6157 3 164 2 157

¢) 85206 12 285 99 000

d 816816 110 819 962 321

) 3171623 5000 701 3762 189
) 11235 686 22 544 000 34 343 765
a) 34 125 131 99 123 200 248 156 000




CHAPTER 2: ADDITION AND SUBTRACTION
2.1 Simple addition

Ahmad has 15 marbles. Sara has 12 marbles. How many marbles
do they have in total?

To know the total, we will add 15 marbles and 12 marbles.

Ahmod S PSP S ISIEIIISIIIID
Sara PIISPISIIIIIO

You can count the tatal marblas. Thare are 27 marbles in total.

We add numbers by writing them according fo the place value of their digits.

First, we add ones of the
numbers,
5+ 2=7

MNext, we add tens of the
numbaer,

1+1=2

T 000

The sum of 15 and 12 is 27.
Add the following numbers: )
1 2 3 3 4 6




Ali got Rs. 321 on Eid. Sara got Rs. 54 on Eid. How much money did both
Ali and Sara get on Eid?

To know the total, we will add 321 and 54,
Recall that we can always put a zero on the left side of @ number without
changing its value.

Hundreds Tens Ones
First, we add ones.

l1+4=5.

Hundreds fens
Next. we add tens.
24+ 5=1.
% Next, we add hundreds.
3+0=3,

Ali and Sara got Rs. 375 in total.

(Add the following numbers:

8 3 ] 3 2 6 1
+ 3 * 5 & + 4 92 3
8 6




Let's add 6 137 and 2 622.

We will write both numbers u:mrdrng to the p|4:rc=-& value of their dlg]ta and
follow the following steps,

| "

Thousards Hundrads Tenz Ornas Thousands Hundreds Tens Ones

Add the ones. Add the tens.
T+2=9 d+2=5

T'Fn'n_-:tﬂ |'||.'!|:'_1 Rundreds TE.'.H ':-..:' nag [E"I-:'u'i-fl 'IEIE HIJI"I 'ﬂrr'.*-dE: TEF:E D‘FIEE
1 3 7
+ 6 2 2
7 5 9 8 7 B 9
Add the hundreds. Add the thousands.
1+6=7. 6+2=8
The answeris 8 759.
III,.--"_
Add the following numbers: )
i 1
+ + H + 2 % 2




What is 43 152 + 12 4467

Let's write both numbers according to the place values of their digits and

follow the same steps to add them.

Ten Thouganda Thousands Hundreds T

& otep 3
Add ten thousands. 4 ten thousands + 1 ten thousands = § ten thousands.

[ Add the following numbers:

S a2
+ &Y 221 LS B O T 2 Z 1Y

Follow the some steps you have learnt and add the following
numbers. Remember we start adding from the right side.

613 %561 e 3 1 &1 3 1 2F 1

A O£ 1 2 0 ! e & E I T | R I R T MU




Exercise 2.1

1. Add the given numbers.

a) b)
30 6 1
+ 1 6 + 2 3
d) 611 2 e)
+ 3 6 6 0 +

2. Line up the following numbers according to the place value of
their digits and add them.

a) l6+22= )
b] 6174140 = RN
¢) 2236+6763= [ ]
d) #1618+1%160= [ ]
e) 13617+101M1= [ ]



2.2 Addition with regrouping

There are 16 red flowers and 8 yellow flowers in a garden. What is
the total number of flowers?

-2 2-2-R-2-R-3-R-X-F-3-R-F-R -
28888888
You can count total number of flowers. There are 24 flowers in total.

Let's write both numbers according to the place value of their digits and
add them.

% First, we add ones.

+
e
=00 o

B+6 =14
We will regroup 14 into 10 and 4.

14 cnes = 1 ten 4 ones.

Let's carry 1 ten to the tens column.

B& Next, we add tens.

O

1 &
+ B8

2 -
14+] =2

The tetal number of flowers is 24,




Can you now add 937 and 237

Let's write both numbers according to the place value of their digits.

Recall that we can always put @ zero on the left side of a number without

ﬂhung]ng its value.

Hundreds Tens Ones
First. we add ones.

7+3 =10
We will regroup 10 inte 10 and 0.
10 ones =1 ten O ones

Let's take | ten to the tens column

r Hundreds Tens Ones
Next, we add tens.

WE hu\ra | more ten now.

3+2+1 =6

% Next, we add hundreds. g a
. 3 +\0 2 3
e 9 6 0
The answer is 960.
i N
Add the following numbers;
1 B & 1 & 9 b
+ 3 L 6 O 2 * & L B




A toy shop has 4 255 different toys in one section and 4 360 toys
in another section. How many toys are there in total?

To know the total, we will add both numbers.

Thousands Hundreds lens Unes [housands Hundreds Tens Ornes

rm— Add the tens. 5 + 6 =11
Add rha =H. 11 tens =1 hundred and 1 ten.
5+0=5 1 huidrad fo the

_ Add the hundreds. Don't L —
vrget the carried hundrad % ;d:;hj*ﬂhﬂ“ﬂﬂdﬂ.

3+2+1=6

There are 8 615 toys in total.

rFIn::I the sum of the following numbers:

o E
oo
0O

4 9 8 7 3 0
+ & 3 6 1 + 1 9

| e

9
3



Let's now add 91 819 and 33 276.

HlJ!'lﬂ-"El:ll TE'Fn Ti'tl._..'lJEl:l nds H'.JF'-'Z'FE'EIE TE'F--E D'I'IElEi

Thousands Thousands

Add ten thousands. 9 +3 =12,
¥Step 6 12 ten thousands =1 hundred thousand + 2 ten thousands.

Add hundred thousands. 1+0=1

( Find the sum of the following numbers:
13 649 32 D81 71 6%1
* 64 421 " 66 BEBY * . BW g

Follow the same steps you have learnt and add these numbers.

76 996 819
13 # 4%1 2740

673 338 1902 4
IO L - i ¢ . B ) + 218 3

%0




Exercise 2.2
1. Add the given numbers.
a) 3 6 b) 5 6 c] 1 8 2
i b s ] A 1 6 4 E 3 ?
¥ aE °® 8009 0 6381
¥ ¥ .18 +. 7 269 + 1631
2. Find the sum of the following numbers,
a) 601 b) I'T 31 8
+ $5734 + % 17 6
c) d)
75 190 6 3 174
+ 1 636 + 20 9365

3. Line up the following numbers according to the place value of
their digits and add them.

a)  55+29 = ( )
b) 91452 = ( J
c) 250+ 150 = L ]
d) 5158+ 1409 = | )
e) 41850+ 20311 = | )




2.3 Addition problems in daily life

u} Sara has 32 blue toffees. Ali has 18 red toffees. How many toffees are
there in total?

13313EY: 11111 Tein D |
A i ¥
. iiiiﬁﬁ i+, .
+ ) o
32 18

id he sell u|’rngﬂthar?

ver computer game. ohe scored 7 480
?

e] There are two schools in a fown. 2 450 children go to one school and

B 910 children go to the other school. How many children go to both

e ﬂ



2.4 Mental addition
Let's find the sum of 22 ond 56,
Split the numbers according to the place value of their digits.

22=20 + 2 T
56 =150 + 6  20+50=70

Hence, 22 + 56 =78
Let's find the sum of 350 and 415.

Epht the numbers ucf:nrding to the plucu value of their digl'hu.

350=300+ 50
415 =400+ 10 +5

(Add the following numbars: i
45+ 5 = 70 +41=
38+10 = 50 +18 =
70 + 40 = 280 +10=

| 30+36= 350+ 400 =




2.5 Simple subtraction
Sara bought 23 biscuits. She ate 11 of them. How many does she
have left?

BEELEEEBEEZEESSS
DOHIHEDED

There are 12 biscuits left.

We find the difference betweaen two nu
the place value of their digits.

L% Firet, we subtract ones,
3-1=2

.".l'
Li Next, we subtroct tens, -
2-1=1 o . .

The differance between 23 and 11 18 12

Find the difference of the following numbers:



Asad has 125 coins. He gave away 13 coins. How many coins are
left?

To find out number of coina left, we will subtract 13 from 125,
Recall that we can ulwuyﬂ put g zero on the left side of o number without

changing its value,

% FTrnf. we subtract ones.

A=R=2

Next, we subtract tens.

i

2—1=1
% Next, we subtract hundreds.
1-0=1

Asad has 112 eoins.

#

Find the difference of the following numbers:

% 3 .3 0 i
e 2 - 1 0 bt 6 1




A worker packed 2 317 shirts. If he has to pack 7 348 shirts in

total, how many shirts are still left to pack?

To know that, we will subtract 2 317 from 7 348.

Thouzonds Hundreds Tens Ones Thousands Hundreds Tene Ones

Subtract the ones. Subtract the tens.
B—7=1 4-1=3

Thousands Hundreds Tens Ones

Subtract the thousands.
7-2=5

&

Find the difference of the following numbers:

Subtract the hundreds,
3-3=0

The answer is 5 031 shirts.

A N g1 F B 2 4 5 1
o S« BE : A S U - 2 & 2 9




What ie 79 562 - 72 5107

Let's line up both numbers in vertical columns and follow the same steps.

1 an r |'| OUuso r-.|:| ] [ } 1GUSINgs H U ::] r'E-:_'J.—E:

Step §
W
Subtract ten thousands. 7 ten thousands — 7 ten thousands =0 ten thousands |

The answer is 7 022,

Find the difference between the following numbers: t
93 538 54 651 176 329
-21 2186 L 2 240 o ST
Follow the same steps and find the difference between the
following numbers.
=13 481 651 2581 935 8360
-3 12 261 — & E8 +8d -721 040




Exercise 2.5

1. Subtract the given numbers.

a) 8 4 b) 8 4 5 c) 7 12
_ .3 ) o o
d) 2 63 e)

_ 2 1 -

2. Caleulate the difference between the given numbers.

U] 46 34 b} f aniA = | = £ 4 i A
- 3001 -4 ¢
g) 258146 h) 58 7 6 4 i) 76 09 01



2.6 Subtraction with regrouping

Let's find the difference between 23 and 6.

% First, we subtract ones.

We cannot subtract & from 3.
Eu. we will borrow 1 ten from

the tens side. Now, we have

130nes. 13—-6=7
k& Then, we subtract tens.

e POHP
After borrowing, we are left .'. .

with 1 tens.
1 =0=1
- )
Subtract the J!;'n:&lh:m.l'm'ing numbers:

5 4 1 3 5 3
= 7 = 3 = 6




Find the difference between 292 and 165.

Let's write both numbaers uucnrdlng to the pFncn value of thair dlgfh.

Firat we subtract ones.

8
We cannot subtract & from 2. 2 ﬁ" ®©
So, we will borrow 1 ten fram be: 9 6

the tens side. 12 — 5 =7 F 4

"% Next we subtract tens. Hundredas Tensa

We have B tens left.

B—6=2
% Mext we subtract hundreds.
8
2 hundreds = 1 hundred = | hundrad @’E
1 (&) B
Solve the following:
1 8 2 3 1 6
- . QL -1 5 0 - 1 5




Ali is writing an essay of 6 525 words, He wrote it 280 words, How

many more words does he have to write?
Let's subtract & 280 from 6 525.

Thousands Hundreds Tens (nes lhousonde Hundreda lens Ones

6 52
-y 2 8

5 i =
_ Subtract the tens. We cannot
Subtract the ones. subtract B from 2. So, we will
6—0=5 borrow | hundred from the
hundreds side. 12—8 =4

Thousonds Hundreds Tens Ones Thousands Hundreds Tens Ures

2 4 W] 2 2 b 5
Subt ds. Aft
b m-_::?. Ipatce. ASter Subtract the thousands.
borrowing | hundred, 4 B
hundreds are left. 4 —2 =2. '
All has to write 2 245 more words,
" Find the difference of the following numbers:
5 1 4% B 5 & 1 1 9 3 0 8
- 5 & 3 2 - 3 240 - 7 2 2 4




Now, let's find the difference between 63 158 and 57 462.

lon Thousande Thousande Hundreds

&+ Step 9
Subtract ten thousands. After borrowing, we have 5 ten thousands left.
The answer is § 696.

Find the difference of the following numbers:

1 284 85 361 5 3
- 406141 = &7 125 - 48

Follow the same steps and subtract the following numbers.

T8% BE Y 620 7065 635 529
- 629379 - 191 %402 -382 717




Exercise 2.6

1. Subtract the following numbers:

a) 4 4 1 b) 8 2 4 c) 6 76
e 2 B B - 659 =% 88
d 2887 e) 4761 f) 6462
=1 578 -2687 -1375

2. Find the difference of the following numbers:
a 98467 b) 3 7510
= 48827 - ToFBE ]

3. Line up the given numbers and find their difference:

a) 958- 682 =
b) 4698- 3400 =
¢) 5183- 2561 =
d) 6897- 4910 =
o) 45125—1003 =
f) 70800-14783 =

)
)
)
)
)
)

{
(
[
(
(
(
@



2.7 Subtraction problems in daily life

n] There were 54 markles in a Jar. Sara took 32 marbles out. How many
marbles are left in the jar?

SEFFIEEIF S ES S
L LR RN LR (XL LN E R
dIFREEID (X LI E RN
AL R R ALY L L L LR
I A FRE RN N
AL R LR L]

54 32

b]- Ali is ruuding a book that has 423 pages. He has read 167 pages.
How many pages are left to read?

ather. He spent 312 rupees. How

DITULDIIID. PIVYY TTTANY DMUURD UYOD 1O

=t |



2.8 Mental subtraction

Let's find the difference between 28 and H4.
Count on from 28 to 30. Hold the 2 in your head.

30 to 44 15 10 +4 =14.

Add the 2in 14. 14 + 2 = 16 is the answer.

Find the difference between 130 and 50. T— -'h_m:_ "r
Count from 510 13. 13=-5=8. En. 130 = 50 =80

i &

Subtract the following numbers:

67=10 =

24-8 =

23-12=

f3=£0 =

44-32 =

B7-27 =

350 - 270=

B20 - 580 =




CHAPTER 3: MULTIPLICATION AND DIVISION
3.1 Multiplication

There are two groups of Y4 balls each. How many balls are there in

20 (00
290 99

% F R aa

There are 2 groups, Each group has ' balls,
e X ¥ = 8
We say 2 times 4 equuhi 8.

Wﬂ can also write i as.

£
X 4
8

We say that the product of 2 and 4 is 8.

There are 3 boxes with 7 apples in each box. How many apples are

POOe  Veoe
Yee | vee

Voo
COw

7 +

There are 3 boxes. Each box has 7 apples.

4

3 times 7 equals 21,



The pmdt.n::f of 7 and 3 is 21.

Let's quickly revise tables of 7, 8 and 9.

5%0=0, 3 x0=0et.

Recall the tables and write the correct answers. 1
9

3 7 8



Ali, Sara and Ahmad have 12 coloured pencils each. How many
coloured pencils do they have altogether?

There are 3 children. Each one of them has 12 coloured pnnci]i-

Let's find whot 12 times 3 is.

12X3="7

The product of 12 and 3 is 36,
There are 36 coloured panci[s nl?ugniher.

-
Hu|ﬂp|‘1,r the ’Fn||nw1ng numbers: )
y ¥ |
L 3 u £




Fatima reads 4 pages of a book every day. How many pages will she
read in 24 days?

Let's multiply 2% by 4.

Fatima will read 96 poges.

Find the product of the following numbers:

1 & 3 7 3
X B X 2

= b3



Let's multiply 452 by 4.

2
8
2
8

@

()]
o

. %
0

1 8

The answeris 1 808.

Multiply the following numbers:

6 1 3 1 8@ 1%
X 2 X 2 X ]




Exercise 3.1

1. Complete the following:

1 3

f—
ono on

222

-
Cad

680

b)

)]

2 0
X Y4

3 6
X P
234
X 2
841
x 6

c)

a)

k)

Calculate the product of the given numbers.

1 0
X 8
2 9
X 3
67 1
X 1
178
x 2

d)

h)

X 7

8 2
X 3
111
X 7]
230
X 3




3.2 More about multiplication

Recall that 10 times 1is 10.
What is 10 times 37

oo "
3 30

10 times 3 is 30.

When a whole number is multiplied i}"' 10, we can write 1 zero at the
end of the eriginal whole number.

Multiply 13 by 10.

DO@® *1°.
13

130

Let's multiply 3 by 20.
We will break 20 into 2 and 10.

3 x20=3X2%X10
—

=6X10
= 60
9o, 3 X20 =60
- N

Complete the following:

17 X10= 13%X10=
4x30= 2 X940 =




A shnpkuepar has 12 boxes. Each box has 13 books. How many
books are there in total?
Let's find the prn-:lu:i' of 12 and 13.

1. .2
X 1 3

13 can be split into 3 and 10,

We will multiply 12 by 3 first and then by 10 and add our preducts.

Recall the multiplication rules.

| '
X 3 X 1 4
3 b o el

12 X 13=186



Let's multiply 26 by 14.

Multiply the first number by ones place of second number.
e — o S+HP ‘.- . -

l 0 4

Add the products from step 1 and step 2.

i Multiply the following numbers:

1 3 3
X 8.3 X 4

P h‘\




A book costs 31 rupees. What is the cost of 127 such books?

Let's multiply 127 by 31

P

e |

-1 O




Exercise 3.2
ki Multiply the given numbers.
2 3 3 2 4 0 1 %
X 2 3 X 2 2 % 1 = X 1 2
e i 2 1 3 1
X3 1 X8 O X6 2 X4 6
£ Find the product of the following numbers.
639 248 3 1 2 h 23
x 11 X 20 X 2 3 X 31



3. Find the product of the following numbers.
21 1 321 &1 4 1103
X 32 X 42 X 31 X 2 1

Challenge
Let's try 4 132 x 123
Hundred .
'-l'i'-,!;:i a “ I Tﬁmnuhﬂl Hindreds: Tans M,
; 1 3 2
X O @06
@ © Airat number by ones
! . - 7 E’_*Mﬂfhmndnﬂmhh Il
o 8 5 6 4 0~ thmh;mﬂﬂmﬁbﬁrhgﬁm
wﬁﬂﬁumhﬂ*hfhm
4 ] 3 2 0 ﬂ'—*mﬂ“ kg
5 0 8 2 3 6 —s Add tha products.




3.3 Multiplication problems in daily life

a)  Sara bought four books to read. If each book has 32 pages. how many

-
)

L
oW many mangoes ara there in 32

3

‘-Fh.‘l

2

0o

ery day. How many toffees will they eat

d) There are 1 272 children in a school. If every child has 7 books, hew
many books are there in total?




3.4 Division

There are B biscuits in a box.
©666
AL

Ahmad takes 2 biscuits out. {@@@@ i
There are 6 biscuits left. ; ¥ i
el

e,
6-2=4 ! ﬁﬁ

Ali olso takes 2 biscuits out.

There are £ biscuits left. 1 mmw@ )
=y
o3¢

Anam also takes 2 biscuits out.
There are O biscuits left. [
2 w1 == )
We can subtract 2 four times till we are left with 0.
This is called repeoted subtroction

Count the mangoes. Subtract 2 till you are left with 0. }

1IN - 2 =

T IFITF
I III

We o«

59




Ali has 8 balls.

9900
92000
20 2
29 9

There are 4 balls in each box.

o
J

We say that B divided by 2 is equal to .

There are 12 oranges in a box.
We want to divide them aqunﬂy in 3 boxes.

(XX XX X
.““\ 12 +3 = 4

cooe cooe
12 divided by 3 is equal to 4. “ ‘“#

There are 't oranges in each box.

Write the correct answers.

¥y ¥ ¥

e
™
Y W U
- rl. .:ll'
ol ST A
r.{_"lr l:..:_'.il 1:1'._.:
i - o
O O O
L

¥ ¥ ¥
¥ ¥ ¥
9% 3

= 15 + 6 =




Sara's mother bought 15 buttons. She wants to put them in 3 boxes.

How many buttons will she put in each box?

Let's find out 15 <+ 3

®O®E
®e6
®OE
@O
@6

Recall the table of 3.
S R et
BN Ee = s
3 X 3 = 9
¥ X3 =12
3. X 3. = 15 ‘

9 times J is equal to 15
So, 15 divided by 3 is equal to 5.

189+3 =38

Sara's mother can put 9 buttons in each box,

@GOG OGO

i
Divide these numbers.

6 +2 = 10 + 6 = 21 + 3 =

o8 =~ 4 =| | At = 8 =| | 1R = A =| |




Can you put 26 marbles in 2 groups?

Let's divide 26 by 2. T YY"
Write the division sum. ‘'TTTTTT]
'TTTTTY T

We will start dividing from the highest place value.
SIS

! Step 1

Divide 2 by
2 X1 =2 8o,
2 +2=1

You con see that we put 1 in the tens column, Which means 10 times 2 1s 20,

Let's bring the next dig'r’r down.

E3
Step 2
2/ 2.6 .
= 2
- 06
f
0 (We can also chack f thists 1 3 3
the right anawer X 2
There is nothing laft. Let's find 13 X 2. 2 6
RO ESE 1S We get 26. 13 times 2 ia 26."‘

-

Solve. 3J69 4 J'48

£



Ahmad has 13 balls.

FEPFFNY
2IIIIID

He wants to put them in 2 boxes with equal balls.

He can put & balls each in 2 boxes and he will still be left with 1 ball,
200| 999 o
DIV 999

1 is the remainder. 5o, 13 is not completely divisible by 2.

A number is completely divisible by another number if the remainder is O,

Let's find out 23 + 4. ‘s.l‘ )@;T
Recall the table of 4. A X
4 x § =20 | diidend |
5 times % is 20 and we will be left with 3 as a remainder.
We can also write it as 23 +4%=5 Remainder 3
Remember, remainder is ulwu',ra smaller than diviser. Here, 3 € 4,
Recall your tables and divide these numbers. ]
2l + 2= O HemulnderD
s o F—a o N

ed = I =| | Hemainder | |

84 =+ 9 =D Rﬂmulndﬁ-rD




Divide 47 by 3.

Write the division sum and start dividing from the highest place value.

Step |

Divide 4 by 3. Recall
3X]1 =3and3 X 2= 6.
So, 4 iz not campletely divisble by 3.
4 — 3 =1. We will be left with 1.

Siap 2

Bring next digit dm.l.'n
Divide 17 by 3.

4 :; 3 X5 =150nd3 X 6 =18
2 So, 17 is not completely divisble by 3.
1/—15 = 2. 2 is the remainder.
We keep dividing until the Ea you check if 15/
remainder is less than the divisor, 2 < 3. "tl'iﬁ right anawer?
47 + 3 = 15 Remainder 2. Whatis 15 X 3 + 27

5
Solve.

4) 865 5] 87 7) 86




Can you divide 96 by 67

96+ 6 =7
Write the division sum and start dividing fram the highest place value.

Step |

Divide 9 by 6.
9 is not completely divisble by 6.
EX| =6and9 —-6=3.
So, we are left with 3.

1 6
6) 96
5 9 ‘ Step 2
" g g Bring next digit down,
= Divide 36 by 6.

6 X6=36b.

Remainder is 0. So, 96 is :nmplamhi divisble |:|':||I 6.
96 + 6 =16.

r|::|'F1.uri1:h.a these numbers.




Exercise 3.4

1. Recall your tables and complete the following:

a) 16+ 4 = b) 36 + 6 =
c) 28+ 7 = d 56 +8 =
e) 1B+ 9 = f) 72 + 9 =

a) 16+ 2 =(_) Remainder ()
h) 25+ 5 =(__) Remainder ()
) 20+ 3 =(_) Remainder [ )
) 28+ 8 =(_)Remainder [

2. Find the guotient in each of the following:

a) 4 ) yy b) 2J 9> c) 6) 84



3.  Work out the outputs in each of the following.

\|/
/1\

\I/
/|\
000 006

OO @60

&




3.9 More about division
Let's divide 189 by 9.

Write the division sum and start dlvldlng from the Iﬂghaﬂi p|m:a value.

1 iz smaller than 9. We cannot divide 1 by 9.

So, we will take one more place value and divide 18 by 9.

E Step | :
p
5 Gj;? Divide 18 by 9.
i X2 =18 5S¢,
0

1B+9 =2

You can see that we put 2 in the tenz column. Which means 20 times 9 12 180
Let's bring the next digit down.

2l
9J) 189 Step 2
- IE|
09
= 9
—i
1B9 + 9 =21

Divide 9 by 9.
9+9=1

I

Solve the following:

6] 4 6 8 47304




Zara wants to put 339 books in two shelves. How many books will she
put in each shelf if she wants equal numbers of books in each shelf?

JaoT2=7%
] from the
1 otep 1
2 ) @3 5
e Divide 3 by 2.
| 2X1=2and3-2=]
16

2Jase PRR

Bring next digit down:

3 { g Divide 13 by 2.
1 2 Iﬁ=12und 13-12=]
167
SETTH Step 3

- 13 Bring next digit dow
_ 19 Divide 15 by 2.
= 2X7=1%and 15— 14=1
- 14

| «——— Remainder

There will be 167 books on both shelves. And | book will be left.

6



Let's divide 18348 by 4.

Write the division sum and start dividing from the highest place value. We will
keep divding untill the remainder s less than the divisor.

4587
y J 34
_1a|

2

- 2

L | O
RS DY PD

o3 len o

Remainder is 0. We can see that 18 348 is cnmp|i’ri|'_.r divisible byr %
18 348 +~ 4 =4 587

i

Solve the following:

4 J5644 6385 7)J3147




Let's divide 195 by 13.

196 + 13 =7

Division by 2-digit numbers is similar to division by 1-digit numbers.

Write the division sum and start dividing from the left side of the dividend.
Wae cannct divide | i:nl,r 13. Sa, we will take one more p|nca value and divide 19

by 13.
1 Recall the
{3 5 Divide 19 by 13 multiplication rules.
ivide y 13. 13
" 13 X1 =13and 13 X 2 = 26. X 92
65 Since, 26 > 19. So, we will go 2 6
with 13x 1 =13 ——
and 19-13=68
16
1 34-': 195
Al down. Divide 65 by 13 3 5k
8% We can try multiplying 13 with 13 13
— 69 J Pa i T -
0 H 2 6 3
Hence, 195 + 13 =15
Solve the followinag: ]
311793 15/255




Exercise 3.D
1. Solve the following:

a) 4848 b)5 /2585 c) 7)798 d)3)9856

e)2/)1458 f) s J93e a)13J221 M1 e71

2. Find the remainder in each of the following:

a) 6)848 b) 5/166564 c) 3J698 d) 8897



3.6 Division problems in daily life

a) Sara has 32 toffees and she wants to share themn equally ameng her 4
friends. How many toffees will e~k Frinnd ~ad?
Ta know that, we will divide 32 by
g = =7

4 ) 3

=

(1% 3 % o

d) Miss Amna brought 320 balleons

How many baolloons did each of th_. .. o= -



CHAPTER 4: FACTORS AND MULTIPLES

4.1 Divisibility rules

A number is completely divisible by another number if remainder is 0.

A whole number is divisible by

if the last digit is O or divisible by 2 {even). For example, 5%, 98, 22 and 20
if the sum of its digits is divisible by 3. For example, 271 (2 47+ 1=12)

if the last digit is O or 5. For example 590, 6815

Lat's chack
Is 81 divisible by 37 | 2? |
Yes, because B+ 1 =9 and 9 is divisible by 3. -E.‘JT
Recall 3 X 3=9. -6 .
21
Is 250 divisible by 57 =l
2 l:rr WL

Yes, because the last digit is 0.

i~

Circle the numbers divisible by 2. @ 32 981 761 882 1000
Circle the numbers divisible by 3. @ 33 81 100 1101 1211
Is 341 divisible by 27

Is 20589 divisible by 57

LY

e



A whole number is divisible by

if the number formed from the last two digits is divisible by 1.
For example, 112, 1308, 2520

if the number is divisible by both 2 and 3. For example, 12, 24,
114, 3312

BH

10 if the last digit is 0. For example, 110, 28900
Let's check

ls 1124 divisible by 47

Yes, because the number formed from
the last two digits is divisible by 4.
Recall 4 X 6 =24

ls 1550 divisible by 107

Yes, because the last digit is O,

F '

Circle the numbers divisible by 4. @ 35 3%% 748 4112
Circle the numbers divisible by 6. @ 33 312 902 3114

s 2516 divisible by 77

Is 33 divisible by 67

Is 10005 divisible by 107 ——

2

L




Exercise 4.1

1.  Which of the following numbers are divisible by both 2 and 37

2. Lock at the follewing numbers:

161| [1655 | [5892] 25000 [120] [18s4

2680| |10005 11 | 132{]" 6328 11112

Which of the above numbers are

a) divisible by 27 " I_

b)  divisible by 37

c) divisible by 47

d)  divisible by 57

e divisible by 67 | " |

t) divisible by 107 [

g]l divisibla |::':,-' both 2 and 47

h) divisible by 2, & and 107




4.2 Prime and composite numbers

Prime number Is a number that can anly be divided exactly by 1 and itself.

Think about number 3.
It can only be divided by | and 3, without leaving a remainder.

3 is o prime number.

Some other prime numbers are 2, 5, 7, 11 and 13 etc.

Compesite number Is a number that can also be divided exaclty by any
number other than 1 and itself.

Think about number 4.
0 and | are neither

It can be divided |:|-*,r 1, 2 and % without |Ecwing a prime nor composite,

remainder.

4 is @ composite number.

Some other composite numbers are 6, 8, 9, 10 and 12 ete.

Exercise 4.2

ldentify prime and compeosite numbers and put them in correct

boxes given below.

1 2 3 b g 6 i g 9 10
11 12 13 14 15 16 17 18 19 20
2] 22 23 24 25 26 27 28 29 30

Prime Numbers Composite Numbers

2 3 4




4.3 Multiples

A numbar that ﬁ-'e'nmphm&ﬁ.;-dlmlblu'by.uﬁﬂim number is a
multiple of that number,
Let's find multiples of 3 using @ numbe

+3 +3 +3

o 1 2 ® 4 s (6 7 8 (9
Start from O and count on in 3 equal steps. You will find multiples
of 3.

Below we have first three multiples of 3 biscuits.

3x1=3 3x3=9

3 %1 =3 p ; Yeos, 2138
3x2 =6 ’ﬁj ;ﬁ‘ completely disible by 3.
3 x3 =9 -  Recall 7 X3 =21
3 x4 =12 3 ‘5o, 21 rrumlﬂph
3 X5 =15 of 3.

3 X6 =18

g R =l

3 xg =24

3 X 9 =37

3 %10 =3

3,6.9. 12,15, 18, 21. 24, 27 and 30 are first ten multiplea of 3.

7.



Let's find multiples of 4.

*/"i\\./"'i\./”'i\.'

nlzé(f@éa:;émn@

Recall the multiplication table of 4

X 15 4
4X 2= 8
X 3 =12
R =
4 x 5 =00 ., 4.8.12,16, 20, 24 28, 32, 36 and 40 ore
4 X 6 =24 the first ten multiples of 4.
g X 7 =28
4 X B =32 Table of 10
4 X 9 = 36
= 10%x 1 = 10
Let's find multiples of 10, 10 x 3 =30
10X 4 = %0
10, 20, 30, 40, 50, 60, 70, 80, 90 10 X 5 = 50
and 100 are the first ten multiples of 10. 10 % & = B0
10X 7 =70
le 75 a multiple of 107 10 X 8 = BO
75 i not a multiple of 10 because it is not divisible 0% 9 = 30
by 10. Recall divisibility rule of 10. 10 %10 =100
II" ™

Complete the following:

a) multiplesof 2 | 2 || 4

b) multiplesef b | 6 || 12




Exercise 4.3

1. List first 10 multiples of the following numbers:

a) 2
b) 3
) 4
d) ©
e] 6
3 T
g) 8
h) 9

2. Circle the multiples of the numbers shown on the card.




4.4 Factors

Let's arrange 8 balls in equal groups.

There is more than one way to do this.
1 group with B balls in it.

20000000 o
JJ,J ‘J JJ‘J ;J 2 groups with 4 balls in

each group. 2 ¥4 =8

Jd J"J J*J DY — 4 groups with 2 balls in

each group. 4 X 2=8

\J J \J \J Jl J ‘Jl JI i 8 groups with 1 ball in

aach group. EX =8

w

The number 8 can be divided by 1, 2, % and 8 without leaving a remainder.
1,2, 4 and 8 are called factors of 8.

Factors of any number are the numbers which divide the given number
exactly. When we divide a number by its factors, the remainder is 0.

List the factors of 40.
Start with the amallest number and find all the numbers that divide 40

completely without leaving a remainder.

40 =1 x40
40 =2 X20
4n=5% 8 Stop listing when numbars
40=8x 5 start to repeat.

The factars of 40 are 1,2, 4, 5, B, 10, 20 and 40.

&



Is 3 a facter of 257

29 cannot be exactly divided by 3 -
It leaves | as a remainder.
So, 3 Is not a factor of 25,

Exercise 4.4

1. Write factors for each of the following numbers:

a) 12

l ¥ 2 3308003303000

X ' TTTX Y
SIS
S &
X S
EESS
The factors of 12 are _1 ., - , \ and _12 .
b) 20
A SFSSFFIIFIIESIITIIGTIIED
X SIS SISO
SEFSFSISIIFGI
SIS
X SIS
SIS S
SEES$
The factars of 20 are . 4 ' . and




2. Fill in the missing foctors below,

o) 8=012(_).( )

3. Worite all the factors for the numbers given below.

o B
b) 9

c) 11
d)y 21
e) 24
f) 28
g) 36
h) 42

“4. Answer the following question:

u} le 5 a factor of 357 E::ph:in.

b) Is 8 a factor of 417 Explain.

1% e

A



4.5 Prime Factorization

We can express a number as a product of its prime factars.

Factor Tree Method

Find prime factors of 27.

Start with the smallest prime number that is a factor of 27.
27 Is not divisible by 2. It i= divisible by 3.

So, we divide 27 by 3.

Recall 3X9 =27. Write 3 and 9 as two branches of 27.

Jisa prime number, So, we have one prime factor.

9 is not a prime number. So, we further factorize it.
Recall 3 X 3=9. Write 3 and 3 as two branches of 9.
We get two more factora as 3 X 3 3X3IX3=27
S0, 27=3X3 X3,

erﬂng a number as a pmdu::t of its prime factors 1s called prime Fu{:furlzc:ﬂun.:

Find the prime factors of the following numbers.




Division Method

We can also find prime factors using division method.

Find prime foctors of 18.

Start with the smallest prime number that divides 18 completely.

2 is the smallest prime number that divides 1B without leaving a remainder.
Recall 18 +2 =9

S0, we write 2 on the left side of 18 separoting them with

aline. 2 is a prime factor of 18, 2 18
918 not o prime number. J ?
3
2Xx3x3=18
So, we divide it ogain with the smallest prime number that divides it complataly.

Recall ¢ + 3=3.
Jisa prime numbar.

We keep divinding untill we get all prime numbers.

So, prime factors of 18 =2 X3 X3

=,

Find prime factore of the following numbers using division method.
3 | 27 48 99
|
AKX =97 ‘ X_X___ =99
__X__ =148




Exercise 4.5

1. Find the prime factors of the following numbers using the

factor tree method.

a)

2.  Find the prime factors of the following numbers using division

method.
a) k) c)
| 20 | 60 32
| |
X X —1
X X__X___ =680
X X X X =32




4.6 Common multiples and Least Common
Multiple (LCM)

Can you find common multiples of 2 and 37

Let'a write first ten m1.||1'li-p|'aﬂ of 2.
= % & B M 42 I 16 18 20

Let's write first ten multiples of 3.

3 & 9 12 15 18

You can see that some numbers are mu

comman multiples. Let's circle common multiples of 2 and 3.

Multiplesof 22 2 4 (® 8 10 @@ 1 156 @ 20
Multiplesof3: 3 (&) 9 @ 15 @@ 21 24 27 30
Common multiples of 2 and 3 are 6, 12 and 18,
6 is the smallest number which is a common multiple of beth 2 and 3.

It is colled the lowest {or least) commaon multiple (LCM).

To find LCM, we follow the following steps.
a8
‘Fhﬁmuﬁlnlﬁﬂfﬂﬂﬂuﬁ‘-hm
o
@ ot e sowon kiges, |
78 Find the lowsst common multiple or LOM.

3 ~
Find the first two common multiples of 4 and 5. Identify the LCM.

Multiples of 4:

Multiples of 5:




Exercise 4.6

1. Write the multiples for each number given below. Circle the
common multiples and find the least common multiple (LCM) for

each pair of numbers.

o (2)(e) ) (4)(e]

Mulﬁpha of 2 Mulﬂplﬂﬂ of 4
Multiples of & Multiples of &
LCM S LCM s

A €D ED 9 (6](8]

Multiples of b Multiples of &

Multiples of 7 Multiples of B

LCM - LCM —
) NE €D

Multiples of 2 Multiples of 3

Multiples of 8 Multiples of 5

LCM == LCM —

''''''



4.7 Finding LCM using prime factorization
We can also find LCM using prime factorization method.

Let's find LCM of 6 and 8 using prime factorization method.

:;"‘E

6 Write prime factors of both numbers.
Prime factors of 6 = .E:l X 3 n
Prime factors of B ="‘:_:.Fj X 2 X 2

G @&
Find the commaon factors.

Common factors =2

:;"'E
é Write the factors, which are not common.

Fiumulnlng factors = 3, E, 2

‘}E
6 Multiply factors from step 2 and step 3 to find LCM.
ICM=2x3 X2 X2 =24

Find LCM of 18 and 27.

Let's follow the steps we have learnt.

Prime factors of 18 = 2 Haﬁ; x(3)

|
()
ol

=

Prirme factars of 27

Common facters =3, 3 (Write all occurances)
Remaining facters = 2, 3

LCM=3x3x2x 3 =54



Exercise 4.7

1. Find Least Common Multiple (LCM) of the follwoing pair of
numbers using prime factorization method.

? O " ©E

LC LCM

M
) @) )" @®

LCM LCM

LCM LCM




4.8 Common factors and Highest Common

Factor (HCF)
Can you find common factors of 12 and 187
Let’s write factors of 12, Foctors of 12| |Foctors of 18
P g 8 & & 1 1 xiz=12|[1 x18=18
Let's write factors of 18, g : E:;g g : E:%g
1 2 3 6 9 18 4 x 3=12||6 x 3=18

You can see that some numbers are factors of both 12 and 18. We call them

common factors. Let's circle common factors of 12 and 18.

Factors of 12: @ @ @ : @ 12
Factars of 18: @ @ @ @ 9 18

Common factors =1, 2, 3, 6.
6 is the greatest number which is the common factor of both 12 and 18,
It is called the highest commaon factor (HCF).

To find HCF, we follow the following steps.

.-_,;F'
Find factors of all numbers.
S ——
éﬂlmrh#-mmmnn-ﬁnm
&
"@ Find the highest common factor or HCF.
[ ¥
Find the common factors of 32 and 40. Identify the HCF.
Factors of 32:] 1 32 Factors of 32 Foeiors of 40
Factors of 40: 1 x32m32
2% [6=32
4 » BEw32
Bx 4=32
J




Exercise 4.8

1. Write the factors for each number given below. Circle the commen
factors and find highest common factor (HCF) for each pair of

numbers,

Neo )
Factors of 3 Foactors of 16
Factors of 9 Factors of 28
HCF R HCF P

9 :

Factors of 18 Factors of 33
Factors of 36 Factars of 27
HCF il & HCF =y

2 (D@ "

Factors of 6 Factors of 11
Factors of 24 Factors of 22
HCF —— HCF _—



4.9 Finding HCF using prime factorization

We can also find HCF using prime factorization methad,
Let's find HCF of & and 24 using prime factorization metheod.

L}'B
6 Find prime factors of both numbers.

Prime factors of 6: lgj X '!_hf_i!
Prime factors of 24: ::E' X ';-Eﬁ X 2 X 2

Find the common factors.

Common factors are 2 and 3

L}E
Multiply the common factors to find HCF.

HCF=2 x 3 =6

Find HCF of 30 and 45.

Let's follow the steps we have learnt.

Prime foctors of 30 = 2 X
Prime factors of 45 = 3 % (3)
Common factors =3, 5

HCF=3x5 =15



Exercise 4.9

1. Find Highest Common Factor (HCF) of the following numbers using
prime factorization metheod.

" @8 @@

HCF HCF

)@@ 2@

HCF HCF
) ®@ )@@

HCF HCF




CHAPTER &: FRACTIONS

5.1 Understanding fractions
Look at the circle. /-
It is divided Into % equal parts.

1 part out af the 4 iz esloured. k

We say 1hu¥% of the circle is coloured.

—

&

—i is an example of a fraction.

A fraction represents a part of a whole that is divided into equal parts.

Look at the rectangle.

2 parts out of O are coloured.

% of the rectangle is coloured.

~

Look at the total number of parts and the coloured parts of the
following shapes and write the correct fraction under each shape.




Exercise 5.1

1. Colour the shapes according to the given tractions.

ol B < o B
N w | e
2 08

7] 8

2. Match the fraction with the reloted shape.

REMEMBER

ll:ﬂ-ll:d




5.2 Like and unlike fractions

Ahmaod's mother bought two similar cakes.

She cut first cake in 8 pieces and tock 1 piece out.
She took

of the firet cake.

She cut second cake in 8 pieces and took 3 pieces out.

She muh% afthie secnd saka,

Since, both cokes were cut into aquu1 sized pieces,

denominator is same for both fractions, We call such fractions like fractions.

1
8

ara like fractions.

and

Like fractions result in equal sized pieces of the whole. Like fr
_are the fractions which have same denominators

Anam’s mother hnught two similar cakes.

She cut first cake in 6 pieces and took 1 piece out.

ok 1 piece out.

it sized pieces,

denominator is different for both fractions.

1

We call such fractions unlike fractions. and 1 are unlike fractions.

6 8

: result in ur sized piece éfﬁwﬁ'a{ﬁ, Hnﬁm
mﬁwﬁﬁﬁﬁﬁf#ﬂﬁ whriiﬁ wam denominators.




Exercise .2

1. Which of the following sets show like fractions?

2. Circle like fractions in each of the following sets.

| 5 8 > 3
g o & 8 9 o 1. .8 & @
8 3 B & 5 & @ 9
5 1 2 3 1 & # B
W= =gy B wge gt




5.3 Comparing and ordering like fractions
Comparing like fractions

Look at the circle.

Sara colours | part out of B.

L T . [ I e e T S ™

Each part is of the same size. So, 3 parts out of 8 Is greater than 1 part out

of B.

© - »
e

: mp actions ; with the same denominatars, fraction wﬁh
ﬂim gm&nr numnmﬁrﬁ-&h gﬂuﬁrﬁnﬁﬁm

[ Compare the fractions using symbols of “<"or ">"



Ordering like fractions

Ali, Ahmad and Sara bnugh‘l‘ a cake. Ali ate = of the cake, Ahmad
J

ate — of it and Sara ate _... of it. Who ate the most cake?

R @ +®

Dannmmuhra are Same for ﬂ” Frnnﬂnnu Sn W will compare thn numearators,

9 |s greater than 1 and 2. So, — is the greatest fraction,

B
Ahmed ate the most cake.

Let's arrange these fractions in ascending order.
Write the smallest fraction firat and the greatest fraction at the end.

2 5 Recall if you write the smallest number
8 B firat and the greatest number at the

end, it Is called ascending order,

Arrange g N . ,%. and 2 in descending order.
—3—- iz the greatest fraction. We will write it firet. 1 14 the smiollest

fraction. We will write It at the and.

Recall if you write the greatest number
2 \ first and the smallest number at the
/ ! ! end, it is called descending order.
Arrange the following fractions in ascending order:

1 4 J

o 9 a
Arrange the following fractions In descending order:

gl 2,
g 9 9




Exercise 0.3
1.  Compare the fractions using symbols of "<"or ">,
1 5 5 .
gl g M7 € 7
7 3 1 6
B aies ) ) . i ==
) B 8 ) 5 ) 7
2. Arrange the following fractions in ascending order:
E . B
R 5 5
e 4 3
T T T
B .
% 9 9
3.  Arrange the following fractions in descending order:
a) L i i
8 B B
2 4 !
% F ® T
PO A T
13 13 13




9.4 Addition and subtraction of like fractions

Ahmed ate —:;} of a cake. Sara ﬂTE—g of a cake. How much did they
eat u|1'ng&1har?

Bath fractions show that the cakes are divided into same number of equal

sized pieces. So, we can simply add 2 and 1.

To add the fractions with same denominators, we simply add the

numerators and put It over the same denominatar.

1 & it o B
29, = ¥ =g 5 5

Ahmed and Sara ate —g- of the cake.

All colours 3 of a circle. He then erases 2 of it.
How much fraction of the circle is left coloured?

3

Let's subtract i From —

3 - 2 =
6 6

1
]

Both fractions show that the circles are divided inte same number of equal

sized parts. 5o, we can simply subtract 2 from 3.

To subtract the fractions with same denom Inators, we Blmphr

subtract the numerators and put it over the same denominator,

g B D82,

5 5 ] 5
1

—~_ of the circle is left coloured.

=

Pt 1

L 5]
e Loe



Exercise 0.4

1. Add the fractions and colour the figure.

1

6 6
2. Find sum of the following fractions:
—y —
T W ol B
2 o N ¥ 1 I
e pr—
g2 g g By b
9 2 \ ) 8 8 \ J
3. Subtract the fractions and colour the figure:
T T T | B O B T
_ 2 __
8 8 8

4.  Find the difference between the following fractions.

e
m]r—-
J
O

o,
‘-Jld'—'
I
"-.|.|f'~.'|'
Il
&
&
mim
I
ﬂ:‘l-l-.l’-'
I
b




0.0 Multiplying whole number with fraction

Recall that if we multiply any number by 1, we get the same number,
1 X3=3 . 8§X1=§ et

Similarly, If we multiply any fraction by 1, we get the same fraction,

Lgre-l . Aarz L ad Laied

2 2 o 2 7
Let's multiply % by 2.

We know that multiplication iz repeated addition. S0, we will add i i

two times.
. g . .
3 3 3 3 3
1 2
ST e
W= 3
Lat's fird -ﬁ_ X 3.
We will add - three times.
2 2 5. _ B - B
Ik e ARG SN

Complete the following:

1 ! 1 1
— — + + =




We have learnt to calculote the product

2 2 2
R e

Let's also calculate this product expressing whole number as o
fraction,

3

diseamaeas 2

Let's find 3 X

—_—

To multiply fractions, we multiply numerator
of one fraction with the numerator of ather
fraction and deneminator of one fraction

wlih 1|'1e danuminutur of othar fraction.

2 .3 _ 2x8 _ _6
7 1 7 X1 7
Find 3 X —S—
7
B e 8 o Skl L3
1 ! 1 X7 7




Exercise 5.5

1.  Multiply the fractions by the given whole number and colour the
figures.

E]@m a @

-

l | | | | | | l | | | | |
2. Multiply the following using repeated addition.

- ™ e
1 1 1 . 2
i i i i
L% A b S
5 i ™\ £ oy
I:}EIT= 2
\ / \ S
3 . | 1 |
G}33W= i
\ / e ol
1 e ' ' S
9 &% 5= B
S
4 ™ [
4 =
E]E".T= =
LY A b, A
i 'S ~
SRS i i .
LY A




3. Convert the whole numbers into fractions and find the
required products.

ol e,
1 2 1 g 4 | 2
_=_x = —
SRR F LETE 3
7 ™,
b}gx_l__=
? L9 A
2 f .t
E]TEH=
L9
PR T | {
- =
L9 A
rd .t
1
¢} % Ry =
\ )

4. Solve and match the product with correct answer.

'—"]' Ex%\

1
b) §x—
) 55

1
¥ —
d) b T

i
T




5.6 Division of a fraction by a whole number

Divide -%- by 3.

We have to divide % by 3.

Let's aptif% into 3 equal groups.

Each —L is now divided into 3 equal parts.

Now, the total parts are & and one part out of 6 is -

L. l
TR S 8
T

Which means if ——of a cake is divided into 3 children, each child wil get

1 of the whole cake.

Divide —— by 2.
veq ¥

L

1

~.vide each

into two equal parts.

I.|.
Fach part now is %of the whole.

I -
"I'E

5
E
108,



Divide the fractions by the whole number and colour the figures.

B 1 1 1 1 I

Y i
=S

2
I _w i Lgs
e

We saw that: ke 3 = =

8
J

. This means dividing a number by

If you muhipﬁ( % |:|1_.r % you get

another number is same as rnu|ﬂp|',rlng b'y the r&:{pmcu| of that number.

We can also say that multiplication is the inverse of division.

To divide ?L by 3. we will take reciprocal of 3 and multiply the fractions.

The reciprocal of a number Iul

‘}E
6Tﬂhe reciprocal of the whaole number. 1 divided by the number.

Reciprocal of 3 is % Number Its reciprocal

o

2
6Mu|ﬂpiv the fraction with the reciprocal of the whole number,

P e ¥ iR
2*3'2“3"2::3'5

Solve the following:

1
iy LB = P A S x
s X ?.E

;@.



9.7 Equivalent fractions

Look at the circle.

]
It is divided inta 2 equal parts. T
é of the circle Is coloured.

Now look at this circle.

It is divided into 4 equal parts.
2

of the circle Is coloured.

You can see that the area coloured in both circles is same.

1 2
LI.

Thie means and are egual,

2
2 4

We call such fractions equivalent fractions.

Eq uivalent fractions are fractions which have differant numerators

and denominators but have same value.

Which of these pairs show equivalent fractions? ]

o6




Look again at these fractions.

2 4
1

fo

You can see that to go from , we just doubled the numerator and

= |

the denominator.

If you multiply é by g . you get % . which ia equivalent to %

When you divide your circle in twice number of parts, you have to take twice

number of parts out to get the same fraction.

This means we can multiply numerater and denominator of a fraction with

same number and we will get an equivalent fraction.

by e

Let's n’mhipif 5

2
4

2 4

4 8

You can see that %nnd % also represent same fraction,
2 4

x2
" ¥
e e S
q 8
N
X2

K
Ay



2

Find equivalent fraction of .

Let’s multiply g by g 3

L £ 6

9 15 5 15

St

¥

You can see that ; and lﬁﬁ represent equivalent fraction.

Find the equivalent fractions for the fractions given below and
colour the figures.

Liditiil]




LI

Let's find equivalent fraction of <

I'

We know that we ean multiply the numerater and the deneminater of a fraction

br the same number and get an Equi\ru|anf fraction.

Let's multiply 1 by
6

X2

) il

4 8

5\__!,1_'

X 2

Now, we have 12 parts and 8 out of them are coloured.

1 and-8 is exactly the same.
6 12

Wae can also divide the numeratar and denominater of a fraction b'f the same

You can see that the coloured part in

number and get an equivalent fraction,

Ta £

i/’:\’.i
‘6\"\--...----“"’I )
e

Now, we have 3 parts and 2 of them are coloured.

You can see that the coloured part is the same.
o o
o

=




Look at this equivalent fraction pair. Can you find the missing

ber?
numoear : F D

3 6
We know that to find equivalent fractions, we multiply or divide numerater and

denominator of a fraction by the same number.

Recall yaur tables. To get 6 from 3, we will mu|ﬁp|1_.r 3 b}' 2.
3 times 2 is 6.

3 &

S

Which means we will have to multiply numerator of the fraction by 2 as well.

X2
i
o AT
3 6
T u
X e
1 times 2 1s 2.
=, is the required equivalent fraction.
’ 3
Find the missing number in each pair of the following fractions:
ELE, 2 - = R o
3 i 5 10 =
|2 =8 2 - < NS,
7 14 2 6
\ J




Exercise 9.7

1. Find equivalent fractions of the following and colour the figures:

a) b) T 1 1

2 T 10 3 1=

2. Find equivalent fractions for each of the following by multiplying
or dividing the numbers given:

a) X 2 b) %3 ¢) §3
TN e N s #T N
. =
e b TR o
X 2 X3 X 4
d) =3 o) 4 =3
Ui = S o = e, '
5 3
N Yo 15\_:_5#

3. Find the missing numbers in the following pairs of equivalent

fractions:

1 5 2 1 10
g™ = e SR il il
6 36 8 32 6
Pt . il i, AT i
) =3 °) 3 ) 3 35




5.8 Comparing unlike fractions

Which fraction Is greater, _1_or _4_?
2 6
S and —— are unlike fractions. 1 4

€0 =1 =

To compare them, we will first convert them to like fractions, which means

both of the fractions should have the same denominator.

Lock at the fractions again. | y
i K3

2 is a multiple of 6. 2

Recall that 2 timesa 3 Is 6.

This means we can write an uquluu1uﬂ'l' fraction of 1 which has the same

2
denominator as —1 . by multiplyin l b 3
6 e 2 . 3
%3
¥ ik
o= B
2 6
\_‘__j
= & i)
Mﬂ'w. Wa odn compares % ﬂndi1 6 6
3 5
3 < 4 So— < —,
S T

Therefore, we can say that —é < %

(Whmh fraction is greater, 3 or g Y




Which fraction is greater, S ol ?
5 3 3

3 g

— and —é— are unlike fractions.

o

We have to convert them to like fractions to compare them.

Let's try to find a commeon deneminator for both fractions.
Look at the denominators © and 3.

Recall the first few multiples of D and 3.

Multiples of 5:  5,10,(8. 20
Mu|1|p|ea of 3 3,.6,5 12, @: 18

15 is the Least Cormnmon Multiple. LCM will be the common denominater,

3 = 1= =
5" ™ 3 15
Let's find the misaing numbers now.
X3 X 5
P P
- SRR DO ok
B ulB 3 15
o SR s T
X3 X5
Now, we can compare -% and % :
9 3] >
S N
19 15
So, i }L i i
5> 3 15 15

nr




&

a)

d)

a)

Compare the fractions using symbols of “<"or “>".

1

ol

1

LI.

el

c) —

9

Exercise 5.8

J.‘l{q

l'_'hl-l:.,'l-



9.9 Addition and subtraction of unlike fractions

1 I
Wh + ?
atis 3
o8
1 1

2 8

Recall that same sized or like fractions can simply be added by counting the

number of parts in the numerators.

Look at the figures. Parts in both shapes are of different sizes.
Se, we cannot simply add them, We will first have to convert them to same

sized parts or like fractions. X 4

LCM of 2 and 8 is 8. S

Since, 1 = 1 . We can add 1 and
2 8 B

3
Baal +
2
Add ! and i
3 15



; 4 ]
4 dd — —_
et's @ ?und Z w{_@

Sincﬂ. the fractions are unlike 'Fm::iluna. we will

convert them to like fractions. s —

Let's find LCM of 9 and 6.
Multiples of 9: 9,(8) 27, 36
Multiples of 6: B, 12.@ 24

18 12 the LCM, which will be the common denominator.

¢ & &

A Bl e k]
9 18 & 18
Let's find the missing numbers.
X2 x3
#C e AT
5 UIE 6 UIE
%2 X3
8 3
ﬁ and ﬁ are like fractions.
3 3= 41
18 18 18
g b I _H A g 2 S A8
¥ 9 * & 18 18 18 1
Add -1 ond 2.
3 3]




: 1 4 :
Let's subtract 5 from 5 e% i
The shopes do not have equal sized parts. 3o, we ‘ '
4 1

cannot subtract — from — dlrm:ﬂy.
£ : 5 2

We will first convert them to nhupna with aquul sized parts or like fractions.

Let's find equivalent fraction for bath % and % such that they have a

comman dannmlnuinr-

Multiples of 5:  6,(10} 15, 20, 26
Multiples of 2: 2,4, 6,8,(0)

10 ia the LCM. Se, 10 will ke the common dencminator.

[y | y ]

and —,

5 10 2 10

Let's find the missing numbers.

®2 X5
/f_-\\\. ﬁ
5 8 4 1° - B
O . [ 210
\"‘-.._..-""’
X2 X5

Now, we can subtract e from iby Just Buhtrucﬂng the numerators.

10 10

1610 =10 Al
T eCs
i s al : 5 3




Exercise 5.9

1. Find the sum of the following unlike fractions:

ks ol ® e 2 O

2. Find the difference of the following unlike fractions:

] | =
o -4 ) -+ -

£ e
CR P

2 4-4-0 9 a



5.10 Improper fractions and mixed numbers

g

ook at the following shapes.

4 7
o ¥ m = S
=

In fraction , nurmerator is greater than the denominater. Such fractions

are called improper fractions. i is on improper fraction.
I.I,

A proper fraction hos @ numerator that is smaller than its denaminator,

An improper fraction has a numerator that is greater than its deneminator.

Lock at the shapes again. .

. e
4 4
ihis is 1 whole circle.
4
- A =1

1 e 1)
We can also write it as a mixed number. / 1 \
There iz 1 whole circle and 3 of a circle. whole number proper

fraction

i % is an example of a mixed number,

A mixed number is made up of a wheole number and a proper fraction,

123




Exercise 5.10

1. Write the improper fraction and mixed number for each of the

following.

a) 17 4]

- WM 8
QO% -
T EE 88
'™ 505




0.11 Converting fractions

Let's convert @ mixed number 2 f;tu:- an improper fraction directly.

1 ki = - . S
1 + % > -

We will convert the whole numbers inte fractions with same denominators as

that of proper fraction and add all fractions.

2 2 . ey 9
2 * > ¥ 2 2

We can also do it mathematically by following these steps.

Multiply the whole number part by the denominator of the
fraction.

> 2x2=4

]
2
e %2
Add the product to the numerator.

=Y

2 > 4+1=5
2
Write the result as @ numerator over the same denominator.

5

2

Convert the following mixed numbers into improper fractions:

e s i =
T i s % 5
3 7 5_




Let's see how we convert improper fraction to mixed number,

Look at the circles below.

90X

n‘Fihﬂ circles are colourad.

Let's convert this improper fraction to mited number.

f h

Divide the numerator by the denominator.

2
%:E with a remaindar of 1 3 ) 13
- 12

Write down the quotient as a whole number.

Write remainder as o numerator over the same 5

denominator.

A3
6

i ™

1
=0 —
6

Convert the following improper fractions info mixed numbers:

18 o = sloal = Y al=
o 6~ =L

CIIC]

R
L

0
b
IC]




CHAPTER 6: DECIMALS AND FRACTIONS

6.1 Decimals
Undarstunding tenths
Lock at the rectangle below.

Let's divide it in 10 equal parts and colour ane of them.

We have coloured one part out of 10. That is or one tenth of the

1
10

rectangle.
% is smaller than | whale. You can see that 10 one tenths make | whale.

1+1+1+1*1+1+1+1+1+]=ID=1
o e g W g 0 10 W W 14

1
LT TRl
Recall the place value chart.

To show one tenth of a whole, we will add another column of tenths in it.

Since, ona tenth is amaller than one, we will add the calumn on the right side
after a decimal point,

Ones . Tenths 1

| 10 d 0.1
. /’;’TF‘\

whole number part fraction part

0 . 1 decimal point

The decimal 0.1 has O ones and 1 tenth, We read it as zero point one.




4 out of 10 parts of the circle are coloured.

4 one tenths of the circle are coloured.
1 " 1 & 1 + | . 4
10 10 10 10 10
0.1+ 01 +01+01=04

L|.
— or 0.4 of the circle is coloured.

10

Let's make a plu-::E value takle for decimal 0.4,

Ones . Tenths

| OO
OO0
L|.

2 |

In the decimal 0.4,

The digit O is in the ones place. It has a value of 0.
The digit 4 is in the tenths place. It has a value of 0.4,

We read it as zero point four.

[dentify ones and tenths in the following decimals and complete

the place value table,

Ones |®| Tenths

0.7
0.8

Write the following as decimals.

2 !
—_—— = =|
0 7 tenths 1 | zero point & |

128



We know that 10 one tenths make a whole,

10

_='l

10
10 tenths =1 one.

If we have 10 tenths, we con regroup them Into 1 enes and O tenths.
Step 1 Step 2

Ones . Tenths Ones o] Tenths

28006 _.
38888 ®

0 i 10 1 . 0

Look at the parts of circles coloured below.

®e

T A - 1
10 10 10 10

We can also say that 14 tenths Is equal to 1 one and 4 tenths.
Let's write 14 tenths as a decimal.
We will regroup 14 tenths into | ones and 4 tenths.

14 tenths = | ones and 4 tenths

=1+0H4

=14 Wa read it as one peint four.
L. I
PR



Let's write 53 tanths as a decimal.

We will regroup 53 tenths into 5 ones and 3 tenths.
Look at the ploce value table.

Ones . Tenths

PO |,
oY | o0

5 . 3

In the decimal 5.3,
The digit 5 is in the ones place. It has a value of 5.
The digit 3 is in the tenths placa. It has a value of 0.3.

53 tenths = D ones + 3 tenths
53 =6+03
We read it as five point three.

Identify ones and tenths in the following decimals and complete

the place value table.

Ones |®| Tenths
1.8 .
7.2
9.0 i, - .

Write each of the following as a decimal.

wwm=()  E() s =




Understanding hundredths

Lock at the square.

It is divided into 100 equal parts.

. Each part of the square is one hundredth

or Lnf the whole.
100

1 tenth =10 hundredths

— can be written as 0.01.

i

We read it as zerc point zaro one.
Can you write S _ as a dacimal?

100
Ones |*| Tenths Hundredths
3
5g = 0.03 o OO0
0 I 0 3

Hundredths is amaller than tenths, so we will add ancther column of

hundredths on the right side in the place value table.

Write 10 as a decimal,

Ones |* Tenths | Hundredths Ones |*| Tenthe|Hundredthsa

=B 0 10 Q" 1 0
10 hundredths =1 tenth
10 1
o010 - 9!



Write 13 hundredths as a decimal.
We will regroup 13 hundredths into 1 tenth and 3 hundredths.

13 hundredths = | tenth and 3 hundredths
=01+003
=0.13
100

as a decimal.

Let's now write

100 10 hundredths =1 tenth
100 — 100 hundredths = L one. | 150 hundredths =10 tenths =1 one
Make a place value table for 2.43.
Ones | Tanths Hundredths
@® | OO00 | 00
2 . 4 3

In the decimal 243,
The digit 2 is in the ones place. It has o value of 2,

The digit 4 is in the tenths place. It has a value of 0.4,
The digit 3 is in the hundredths place. It has a value of 0.03.

243 =2 +04 +0.03

We read it as two point four thres.

F]dﬂnfiﬂr tens, ones, tenths and hundredths in the given decimals.

Tens Ones |*| Tenths | Hundredths
14.13 M
235 .

Write the following as decimals.

7 23
h — _ = —
i TMnGioc Q 100 100 Q

e,



Exercise 6.1

1.  The circle is divided into 10 parts and they are coloured with

three colours. Write the fraction and decimal for each colour.
Yellow = [ I

Fed = ‘T 0.3 |
Green =[ ! ><
2. Colour
a) 0.4 of the figure. b) 0.12 of the figure.

3. Write the following fractions as decimals.

7 ' ) 6 f ) 9 ' '

ﬂ] = b] — == ‘.':] —
10 , J 10 \ ) 10 ' )
" S —

d) & = Y T
100\ ; 100 | ) 100 |\ J

dme=( w75 =( ) ) 5= )



T —
4. Write the following as decimals:
a) Zeropointb =
b) Five point three = D
c) Two point four three = O
d) Sixty nine point three nine = O
@)  Sixty one point four six = @

f)  Two hundred and fifty seven point three one = Cj

5.  Write the following decimals in words:

u} 0.31 zampnlniﬁlmaﬂnu_ h} 231
¢) 4.32 d) 09
) 7811 f) 1943

6. Identify place value of the underlined digits.

o) 12 0 251 ()
9 202 () 9 wa ()
) 1387 D f) 3681 [:



6.2 Adding decimals

Ahmad colours 0.3 of a circle. Sara colours 0.4 of a circle. How
much do they colour altogether?

+

0.3 04 0.7

Addition of decimals is similar to addition of whole numbers.

Let’s write both decimals according to the place value of their digits and start

adding from the right. Remember ta put decimal under decimal

Ones . Tenths Ones . Tenths
0 ¥ . 3
i o 1
. 7 D 7
Add the tenths. 3 +4 =7 2 Addtheones. 0+0=0
Can you now add 1.7 and 6.57
We will follow the same steps.
Ones . Tan‘f ha Ones . Teni‘h 8
1 . . 7
+ 6 - + - 5
. 2 B . 2

Add the ones, Don't forget
! 1 to add the carried one.

I1+6+1=8

e
"}@ Add the tenths. 7+5 =12
12 tenths =2 tenths and | one.
The answer is 8.2

i ﬁl;ﬁﬁ*



Add the following decimals:
< P g .. B 6 . B
¥ &8 s i O + 3

Let's add 2.85 and 4.34
We will write both decimals according to the place value of their digits and

start adding from the right.

@
Ones * Tenths Hundredths
2 . 8 5
o 4 » 3 .
7 . 1

Can you now add 32.55 and 13.517

We will write both decimal numbers according to the place value of their
digits and follow the same steps.

@
Tens Ones * Tenths Hundredths
3 2 v & 5
+ 1 3 U ]
4 6 + O 6

The answer is 46.06



Exercise 6.2

1. Add the following decimals:

a 0.3 b) 3.4 c) 0.34% d 4.52
+ 0.6 + 5.3 + 0.53 + 3.24

) 271 fl 1535 @ 2509 h 1%4.39
+ 1.35 +12.60 + 0393 +23.78

) 15.37 ) 28.56 kKl 23.54 ) 47.56
+17.32 + 31.23 + 15.38 +34.923

2. Line up the following decimals in vertical columns and find their

sum:
a) 0.1+05 =
Bl E2+L7 =

e} D21 + 327 =
d] 1411+ 213% =
e) 2135+ 3741

o LLILLL



6.3 Subtracting decimals

Sara colours 0.7 of a circle. She then erases 0.2 of it. How much circle

is left coloured?

90 »

Subtraction of decimals Is similar to subtraction of whole numbers.

We will write both decimals according to the place value of their digits and

start subtracting from the right. Remember to put decimal under decimal,

Ones . Tenths Ones . Tenths

0 . - 7

- g . _ . 2

. 5 0 . 5
s e

The answer is 0.5

Can you now subtract 11.91 from 56.347?

We will write both decimals according to the place value of their digits and

follow the same steps.

Tens Ones * Tenths Hundredths
5 08 * (D3 4
- | 1 . 9 ]
4 | .. 3

The answer is 44.43



Exercise 6.3

1.  Subtroct the given decimals.

@ 0.9 b) 3.67 ¢© 4.75 d) 6.78
- 0.5 -~ 0.53 = 237 - 345

4 BME g 976 g 878 gy 8913
- 3.27 ~ 6.84 - 5.96 - 37.26

D s50.41 1) 43.78 X 8542 ) 57.89
- i3 A —-2)1.54 - 3d4.68 -29.97

2. Line up the decimals according to the place value of their digits
and find their difference:

a) 07-043 = [ )
b) 165-12 = ( ]
¢) 235-111= ( J
4 917-523= | )
e) 4831-2621= | ]




CHAPTER 7: MEASUREMENTS
7.1 Length

Length in metres and centimetres

We use metres to measure langth of objects.

Look at the metre ruler. [t is 1 metre long.

This board iz 1 m tall.

‘Centi” in 'centimetres’
means one part out of a
hundred, or =
s 0 Te o
| Contirnatien .t miatia
100

Thera are 100 centimetres in 1 metre.

We can alao say that the board ig 100 em tall.

A plant is 2 m and 45 cm high.

We can write this height in centimetres as well.

LA 1Y P (=100 cm |
— ! o
= 200 em + 45 cm gm—?h e
aunt in hundreds.
=240 om 100, 200,
So, the plant is 245 em high. S0, 2m =200 cm




Can you converf 508 cm to metres and centimetres?

5U33m=§_€_ﬁ_‘cm+ﬂcm 100 o =1
=5 m+Bcem So, 800 em =5 m
=3m8ecm

Convert the following lengths.
781 em = crm 4 T Yml2em= m+| crm

= m + cm =1 cm +! cm
= i | cm =| cm

L P

Length in centimetres and millimetres

For smaller objects, we use centimatres and millimatres to measure the
length.

Anam wants to measure the length of

She can use a ruler to measure the len
|

Oem 2 3 : 5 & 7 B g 10 1 11 12 14 15

The pencil is 8 centimetre long. We can also write it as 8 cm,

Look at your ruler. |-||”||”||
There are 10 equal parts between O ¢m and 1 cm on

the ruler. Each part is 1 millimetre long. We can also 0 em !

write it as | mm.

So, there are 10 mm in | em.

lem =10 mm

4




All measures the length of his eraser. ‘Milli' in ‘millimetras’

The eraser is 1 em long. means one part out of a
th d, .

We can also say that the eraser is C R 1000

10 mm long. I millimetre = lﬂlﬂﬂ metre

jects that are small

n the ruler.

Let’s measure the length of this nail.

| e

|||||||||||||||||m||1|||||||||||||n||||||||n||||| L0 L
i 7 8 9 10

The length of the nail is between & cm and 6 cm.

We can see that it iz 3 mm longer thi

3o, length of the nail is § em 3 mm.

We can also write this length in millin.-.....

Sem3mm=5em+ 3Imm lem =10 mm
A Ecm:'?
=80 mm+ 3 mm Count in tens.
=53 mm 10, 20, 30, 40, 50,
kSu,Ecm =0t mm |

The length of the nail is 53 mm.

142



Sara measures the length of a chalk. The chalk is 15 mm long.

Can you write it in centimeires and millimetres?

™

1S mm = 10 mm + 3 mm We can regroup 15 into 10 and 5.
=]cm+ 5 mm 15 =10 +5
=]em & mm And 10 mm =1 em

The Iingih of the chalk 1s 1 em 5 mm.

>
Convert the following lengths:

42 mm = mm+| mm 9 em 2 mm

= cm +| mim = mm + mm

cm + mm

b 7
Length in metres and kilometres

'Kile' in 'kilometres'
means one thousond

or 1000.

For |angiha. much greater than metrea, we use
kilometres.

Kilometre is used to measure distances from one
p|n::ﬂ to another.

Thera are one Thuusund mafres in one kilometra.

1 ken =1000 m

The distance between Ali's house and his school is 1 km.

We can also say that the distance i1s 1000 m.

1000 m




The distance between school and railway station is 5 km 200 m.

Let's convert this distance into metres.

" 1km =1000m i
Skm200m = Skn+200 m 3 km =7
i Count in thousands
= 0000 m+ 200 m \ :
1000, 2000, 3000, 4000, 5000.
= 8200 m

S0, 5 km=5000m

h, A

The distance between two towns is 7 400 m.

Can you convert this distance into kilometres and metres?

(Ws can regroup /7 100 o |
TH00 m=7000m+ 400 m 7 000 ond 400,
R il
=7 kin + HO0 m 74%00= 7000 + 4100
B And 1 000 m =1 km
=7km 400 m S0, 7000m =7km

Convert the following distances:

3000 m = m + Ykm 120 m= km+ m
= krn-l- m = T =+ m
== kmn m = m




Exercise 7.1

1. Match with the correct answer.
9 km
12 m
10 em
41 m HO mm
17 km 100 mm
1t m 5000 m
4 em 4100 em

2. Colour the matching measurements with the same colour,

600 em 9
2000 m 2 km 2000 m

om ‘




3. Complete the following:

al] 3cm= mm B} 9em9mm = mm

e] 2B8mm = |cm | ]rnrn d) 31mm = L_Jc:m L_Jmm

e) 15m= cm fl 20m20em=| |em

g) 120em=[ |m | om h) 21lem = 'm i
) Bkm=[ |m ) 9km500m=[ |m

k) 5200 m= km[  |m ) 4000 m= |km

4. The length of @ cupboard iz 2 m 55 em. Convert this length to
centimetres.

5. The distance between Sara's house and the park is 2 500
metres. Convert this distance to kilometres and metres.



7.2 Mass and capacity

Ahmad wants to measure the mass of his pencil.

The mass of the pencil is 3 grams. We can also write It as 3 g.

Sara wants to measure the mass of Pany | jit
a sack of flour. AR

The maoss of the sackis | kilogram.

We can alsoe write it as 1 kg.

Ta measure the mass, we use kilograma for heavier abjects and grams far

lighter objects.

i 1 gram i 1 kilogram

There are 1000 gramsa in 1 kq. 1 kg = ]Uﬂt} )

Ali measures the mass of a sack of rice.

The mass of the sack is 3 kg.

We can also write this moss in arams.

1 kg =1000 g [ RICE
3kg=3 X1000 g
= 3000 ¢

7



We use different we!ghia to meosure the mass of ubjﬂﬂa.

The mass of a basket of cranges is 2 kg 500 g.

Wa can also write this mass in grams.

2kgb00g=2kg + 5004
i)

1kg=1000g
=2500 g =2000g4

The mass of the basket of oranges i 2500 g.

Can you convert 1 600 grams into kilograms and grams?

1600g =1000g+ 600 g Wnnmmgmuplﬁﬂﬂ
e into 1000 and 600.
= lkg + 6004 : .
Ll A B
= 1kg 600 g | And 1000 g =1kg
[ Convert the following masses: 1
EkgEEDg=r kg+L g 2000 g= 'E'l'l ‘9
. 1 Y




Cnpﬂcﬁy
We use litres and millilitres to measure capacity,

Look at this measuring eylinder.

It measurea the capacity In millilitres. The amount of water

in it is BOO mL.

There are 1000 millilitres in 1 litre

1 litre =1000 millilitras

1L=1000 mL

Sara drinks 2 L 250 mL water every day.
Can you convert 2L 250 mL to mL?

21250 mL =2 L+250 ml 1L=1000 ml
=2500 mlL =2000 mL

Can you now convert 3 6560 mL to L and mL?

3650 mL = 3000 mL+ 650 mL |Regroup 3650 into 3000 and 650,

=3 L +650 mL 3355‘:%3*&5@
=3 L 650 mL And 1000 mL=1L
S0, 3000 mL=3L
Y L
- )
Convert the following:
aL60D mL= L+ ml 2800 mL= mL+DrnL
= mb +D mlL = L+ |mL
T 1
= mbL = L mL
e o o

a4g:



Exercise 7.2

1. Convert the following:

a) kg = g b) 4000g=| |k

e] 1lkq500gqg = |g d) B8000g= | kq

o) ‘Y4kg200g = g ) 6L

mlL

g) 5000mlL= |L h) 1650 mL = L |rnL

) 2L200mL=| |mL ) 13L840ml=| |mL

2. Sara's school bag has a mass of § 500 g. Convert it to kg
and g.

3. Thereis 5L 200 mL water in a tank. Convert it to mL.



7.3 Addition and subtraction

Ahmad's pencil is 15 em long. Sara's pencil 1s 12 cm long. Whot is

the total length of both the pencils? :
. IEETEETEE—— -

To find total length, we will add both lengthe, T T —-—

19em _ -
T 12¢em Em“fh*mml“ |
— We start adding from the ones column.
27 cem ' - '

The total length of both pencils is 27 em,

Always add the smaller unit of maasurement first. We can only add sams

units of measurements. For example, metres cannot be added to litres.

A tailor uses 1 m 42 em of cloth to make a shirt for Aliand 1 m 20

cm to make a shirt for Ahmad. How much cloth will he use in total?

Let's add the given lengths.

Ilm| 42¢cm Ilm | %2 cm
+ 1m| 20cm + [Ilm |20cm
62 em Z2m 62em

E}G_
The tailor will use 2 m 62 ecm of cloth to make both shirts.

Add the following lengths:
Om 7 1lem

dm 2cm 2m 52cm



A shopkeeper has 38 m long rope. If he cuts 12 m out of it, how
much length of the rope will be left?

Let's subtract 12 m from 38 m.

3 E il : e - .
e _ We start subtracting from the ones calumn.
m

The length of the rope left is 26 m.

Let's now subtract 1 m 26 cm from 2 m 41 em.

The answeris 1m 15 em.

’ )

Subtract the following lengths:

8m S em Z2m

- 2m 1 em - 1Im



A bus travelled 1 km 380 m from first stop to sacnnd stop. Then, it
travelled 2 km 420 m to the third stop.
How much did it travel in total?

3 m,

Se,

we will aaa mefres TIrsT and kilometers next.
lkm |[38B0m lkm| 3BO0m
+ 2km |420m + [2km| 420m
BO0m 3km BOOm

There is 4 L 850 mL water in a bucket. 3 L 840 mL was removed

from it. How much water is left?
4L 18650 mL L] BEOmL
— 3L 1BY0mL = I3L] B30mL
010mL IL 010mL

The answeris 1 L 10 mL.

Solve the fallowing:
1 km 650 m 6L 718mL



Exercise 7.3
1. Add the following:
a) Sem 4 mm b) lem 1mm
+ lem 3 mm + %9em Ymm
c) 18m H9%cm d) 9km 200m
+ 12m 10em * 10km 110m
e) Skg 2364 f) 43 kg 209 g
+ 3k 1209 + Y4kg 241 g

2. Subtract the following:

a) 17em  Ymm b) 29em P mm
- 16em 2mm - Bem Omm
c) 42m 55em d) 85 km 660 m
- 2m 45 cm — 1L km 50 m
e) 6L 540 ml fl 421 s540mL
- 1L 420 mL —41L 420 ml




7.4 Time

Look at the clock. It telle us time.

It has hours hand, a minutes hand and a ssconds hand.

The small thick hand is the hours hand.

It shows us the hours.
hours

The |ung thick hand is the minutes hand. hand

It shows us the minutes.
The thin hand is the seconds hand.

seconds
hand

It moves very fast, It shows us the seconds.

minutes hand
There are 60 small lines on the clock.

The time it takes the seconds hand to move past one small

line is Bqu:|| to | second.

The time it takes the seconds hand to maove
past aach of thesa 60 lines once, is
equal to | minute. So, one complete round

of seconds hand is equal to | minute.

There are 60 seconds in @ minute.

1 minute = 60 seconds

There are 12 numbers on the clock. Each number shows an hour.

The time it takes the minutes hand to move past the 60 lines once, is

equal to | hour, So, one complete round of minutes hand is equal 1o one hour,

There are 60 minutes in an hour.

1 hour =60 minutes

155




Let's read the time on this cleck.

The hours hand is at 6.
The minutes hand is at 3 which is 15 nccurdlng to

the emaller lines.

We say that it is 15 minutes past 6 o clock.

We write it as 6 : 15 and read it a= =ix fifteen.
The seconds hand is at 45 according to the smaller lines.
This means 45 seconds have passed after six fifteen.

Look at the clock.

The hours hand is between 2 and 3.
We will read the smaller number.

The minute hand is at 8.
Which is 40 accerding to smaller lines.

We write it as 2 : 40 and read it as twe forty,

The seconds hand is at 24 according to smaller lines.

This means 2% seconds have possed after two forty.

rRand the time on each of the following clocks and write it in the i

given box.

Hours : Minutes : Seconds Hours : Minutes : Seconds Hours : Minutes : Seconds

1Q: 30 : 158

k 15




Converting time
Ahmad took 1 hour 10 minutes to finish his homework. How many
minutes did he spend on his hemework?
We know that there are 60 minutes in | hour.
1 hour 10 minutes = 1 hour + 10 minutes
._'U_I
=60 minutes + 10 minutes
=70 minutes

Ahmad spent 70 minutes doing his homework,

Sara's father went to office for 4 hours 30 minutes. Let's see how

many minutes are there in 4 hours 30 minutes.

4 hours + 30 minutes 1 hour =60 minutes
iy uesenall
= 240 minutes + 30 minutes 2 hours =60 X 2 =120 minutes
= 270 minutes 3 hours =60 X 3 =180 minutes
4 hours =60 X 4 =240 minutes

o

Zara went out of the classroom for 6 minutes 30 seconds. Convert
this time into seconds.

We know that there are 6Q seconds in | minute.

6 minutes + 30 seconds
I_..H_,_I

= 360 seconds + 30 seconds
= 390 seconds

Convert the following:

2 hours 3 minutes = minutes 9 minutes 50 seconds =| seconds




Exercise 7.4

1. Read time in hours, minutes and seconds.




2. Convert the following inte minutes:

a) 3 hours b) 7 hours
c] 1 hour 1D minutes d) 2 hours 3 minutes
e] 3 hours 20 minutes ) 7 hours 40 minutes

3. Convert the following into seconds:

a) 8 minutes b) 24 minutes
¢) & minutes 20 seconds d} & minutes 16 seconds
e) 9 minutes 32 seconds f) 10 minutes 20 seconds



am and pm

Saro and All are going to scheal.

Itis 9 o clock.

We say it is 9 am.

We use am to talk about time just after 12 at night to just

before 12 in the morning.

We use pm to talk about time just after 12 in the morning
to just before 12 at night.

There are 2% hours In a day.

Circle whether we will use am or pm to complete these sentences.

Ali eats his breokfastat 7 _____ . am pm
Zara qoes to school at 8 am pm
Sana comes home from schoolat2 — . am pm
Anam goes to o park in the evening ot 4 . om pm
Ahmad sleeps at 7 every night. am pm

- ,



Addition and subtraction of time

Ahmad’s family left the house at 4:15 am and reached Islamabad
after § hours 20 minutes. What was the time when they reached
Islamabad?

We will add 4 hours 15 minutes and & hours 20 minutes.

Racall that we start adding from the right and always start from smaller unit

of measurameant.

4 houra |1 5 minutes 4 hours| 15 minutes

+ 5 hours |2 0 minutes + |5 hours| 2 0 minutes
3 5 minutes 9 hours 3 5 minutes

It was 9:35 am when they reached Islomabad.
Anam started her homework 2 hours befare 7:15 pm. At what time

had she started her homework?
Let's subtract € hours O minutes from 7 hours 1§ minutes.

1 5 minutas 7 hours! 1 5 minutes
0 0 minutes = |2 hours| O O minutes

1 5 minutes 9 hours 1 8 minutes

t.LE-i "'}EiH

It was 5:15 pm when Anom started her homework.

7 hours

— 2 hours

Solve the following:
3 houre 1 D minutes 7 hours 1 2 minutes

+ Y hours 2 2 minutes — 1 hours 0O 2 minutes




7.5 Conversion

There are 7 days

In a week.

Ahmad's father went to Karachi for four weeks. How many days

are there in 4 weeks?

| week =7 days

4 weeks =7 X 4 =28 davs.

He went

Complete the following:

3 weeks =

days

6 weeks =

days

G weeks =

ddyu}

Here is a calendar.

It shows days, weeks and months in the year 2017.
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You can see different months in the calendar.
Lock at the number of the du':,rs of each month in the :ﬁlﬂndur_.
Every month has 30 or 31 days. February has 28 days,

After every 't years,
The summer vacations in our school are from  February has 29 days.
June to August. How many days are there in We call that year a
these 3 months? leap year.

Look at the calendar. June has 30 du':,ra.

July has 31 doys and August has 31 days.
Let's odd the number of du',ra.

30+31 +31 =92

Summer vacations in our school are for 92 days.

I . A
Sara’s teacher went out of the town for the month of Eepiemher

ﬂl'il:l DGTﬂ'hE!’- Fﬂf |"'Iﬂ'll"|l' many dﬂ'fﬂi. Was EI"IE 'I:IWG']"?

Find the total number of days from January to April when it is not
a leap vear.

Look at the calendar again.

There are 12 months in a year.
Mr. Khan went to America for 2 years, Convert 2 yaars to montha.

1 year =12 months
¢ years =12 X 2 =24 months

Convert the following years to months:

3 years = | months Y years =D months 9 yaars =| months




7.6 Measurement problems in daily life

1. A shopkeeper sold 3 kg 200 g flour and % kg 150 g of sugar. Wha

zugar?

2. Asimis ]l m 25 cm tall. His teacheris 2 m 45 em tall. What is the
difference between their h&[g hts?

R ———— T T U T EIETIRC T B

hours 30 minutes on her Mathematics homework, How much time dia

she spend In total? M

R o TN I SR ol B I el B T i L-n- Huw mu“.’, duw did hﬂ Elpﬂnd




CHAPTER 8: GEOMETRY
8.1 Line

Aline Is o utmlghi puﬂ‘u without thickness.
It can be a sfruighf pufh In any direction.

Below are some lines.

4-/ A

The arrows show that the lines can be axtanded In any direction.

WE can also name the lines. Let's call one end of the line A and the other

end B.

e —
A B

AB is a line. We write it as Iﬁ

Let's draw another line CD.

< >
C D

d—

—
You can see that CL is emaller than AB.

A line segment is a part of a line and it has two endpoints.

PQ is a line segment. We write it as PQ. P Q

L &

A ray is a part of a line that has one endpoint and extends in one

direction without ending.

— A
XY isa ray. Wa write it as XY. !

[
W




Let's measure the length of the line AB.

We can use a ruler to measure the length of the line.

Put your ruler over the line such that O of your ruler iz at A. Mark the point

where B is.

Point B reads 9 em 5 mm._

The length of the line is 9 em and & mr

-
Measure the length of the following lines.

M N R 5

O arel

Which line is bigger, 'l'i"i_ﬁ urh_g?

Draw a line in the given space and find its length.

166
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Horizontal and vertical lines

Look at this line.
rmorizonTtail Line

It goes from side to side or left and right. l

We call such line horizontal line < S

Vertical Line

It goes up and down.

We call auch line vertical line

v

Look at the picture of the house.

There are many vertical and horizontal line segments. Can you identify them?

/0N

We will mark the vertical line segments with red

and horizontal line segments with green.

Thors aen T horennial ins anmmmantes qnd

C i — srrem g

7 vertical line segments

Lock at the water bottle.

The red line segment shows its position from the ground.
It is a vertical line segment.
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Parallel and non-parallel lines

Look at these two lines.

They are always at the same distance from < >
each other. < =%
We call such lines parallal lines.

Parallel lines are the lines that are at same distance from each

other. They never meet aach other.

Following pairs of lines show parallal lines.
! \
v
Look at these two lines. \
They are not always at the same distance from each other.
€ >

If we increase their |Bngtl1 hiﬂpling same diraction, thay will meat.

We call such lines nan-parallel lines.

Nun-pumi|n| lines are the lines in the same ph:mn that are not at

the same distance from each other. They cross sach other.

Following pairs of lines show non-parallel lines.
A i




Exercise 8.1

1. The red line segments show position of different objects with respect to

the ground. Identify horizontal and vertical line segment.

.T

Vertical

2. Circle the pairs of parallel lines from the following:

7]
- l

3. Decide whether the line segments marked red are parallelor non parallel.

-

Parallel

A\ 4

ilr P;




8.2 Idanﬁﬂring ﬂngFes

When two non-parallel rays mestat o g

A Two straight rays meet each other at point B.
B is the vertex of the angle.
B «— Angle
The symbel of the angle is £,
P We ca

Angle is marked with a curved line.

Look at the angles below.
C E L P
\___» \/Eé D<
D E F M N :
ZCDE is the greotest ond £PQR is the smallest.

Let's try to find angles around us.

JdL

The minutes hand and the The blades of the acis=ors

hours hand make an angle. make an angle.

- ™

Which of these pairs of rays form an angle? Circle those pairs,

Sy 4 T




M

Take a plece of paper and fold it keepir
S =

f
right angle

The angle ot the corner of a piece of fc
It is marked as b

We can also use a set-square to check if an angle is right angle.

c :
ZLMN is right angle £BCE is not a right angle.

It i1s smaller than a right angle.
We call it acute angle.

X
<4 : — 3
P Q R Y z
£PQR is not a right angle. £XYZ is not a right angle.
It is double than a right angle. It is greater than o right angle
We call it a straight angle. and smaller than a straight angle.

We call it obtuse angle.




We can sze right angles around us,

N
Jgo

We can see cbtuse unglea around us.

il

.t— 1
¥ L}

@

Identify right angle, acute angle and obtuse angle from below and

write in the given space.

2 1

e



Exercise 8.2

1. Mark right angles in the given shapes.

; b}l\ E]<>

v

2. Identify right angles, acute angles and obtuse angles from

below.

a) / b} \\ ¢)
> = /}

.F’J

1

d}z a//g_,
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8.3 Measuring and drawing angles

We measure angles in degrees (*).

There are ‘?D‘ ina r'|g|1f ungha.

F
There are two right angles in a straight line. (_ﬂ:‘._)
A straight line is 180" < pofed] .
90'+ 90" =180 o)
A complete circle is the same as four right anales or 360" ww
90 + 907+ 907+ 90" =360
We can say that 1 part of complete circle is equal to one degree.

360

An ungiir less than gﬂwln an acute ung1a.

An angle greater than 90 but smaller than 180 is an obtuse angle,

Lock at the angle ABC, A

Let's measure £ ABC,

We canuse o protractor fo

measure the angle.

canira I‘r'H.‘.IFL'

A protractor has a centre mark, an upper scale and a lower scale.

Upper scale reads the measure of ﬂnglea from left to right

Lower scale reads the measure of angles from right to left.

Each small marking on the scales shows | degree [ 1" ).

74



To measure £LABC, place the protractar on the ray BC such that the vertex Is
at the centre mark of the profractor. It the ray lies on the 'DDI}F the lower scale,
wea read the lower scale of the protractor If the ray lies on the 0 of the upper

scale, we read the upper scale of the protractor.
—
E'E ies on the O of the lower scale.

So, we will read the lower scale.

E‘iﬁn”a on the murl:ing that is 2 after 45.
So, £ ABC measures 17 degrees,

We can also write it as, m £ABC =47

Eﬁ lies on O of the lower scale. So, we
read the lower scale. ET' meeats on ?D'
m £BCD=90°

£BCD is o right angle.

S

YZ lies on O of ihu-luuﬂr_mh. So, we
read the lower scale. XY meets on 65,
m& XYZ=65"

£XYZ is an acute angle.

QF lies on Oof the upper scale. So, we
read the upper scale. QR meets on 1027
m £ PQR=10Z

rﬁ PQR is an obtuse angle.

15




P

Measure the following angles:

A J | NL\\
> <+ =3
B C G F M N
meABC= | meEfe=( ) mZIMN=[ |

P

We can also draw angles using a protractor.
Let's draw m £ZABC =30’

3% e
Draw a ray BA. b B
@E‘ ;

&
,._‘_:..

Place the protractor on the ray
BA. Make sure that the centre
mark of the protractor falls on
point B which is the vertax,

Find the 30 mark on the upper
scale of the protractor and
mark the point as point C.

C
‘-}E Remove the protractor and
draw a straight line joining
peint B and point C. . ac®
A B
m £ABC=30°

are



Exercise 8.3

1. Use protractor to measure the following angles:

a) b) c) ]\

d) e) F) T

2, Use profractor to draw the Fn||uwing ungles.
a) mezABC=40" b) ms L MN=90 c) ma MNO=70
d) mzABC=80" e) msLMN=120" f) mez MNO=150"
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8.4 Circle

Lock at the circle. It has no sides.

It has a centre. centre

Centre iz a peint from which all points on the

circle are ot the same distance.

We can draw a line segment from the centre of the circle
to any point an the circle.

This line is called radius of the circle.

We can draw a line segment from one point of the circle

to any other point of the circle. through the centre, diameter

This line sagment is called diamater of the circle.

PWE

Remember that diameter is double of the radius.

circumference

The distance around the circle is called circumference.

Frl::llalrﬂifh';.n' the centre, radius, diameter and circumference of the
following circles:




Here is a compasses.

Before using it, make sure 1o
1. tighten the hold of the pencil so that it does not slip.
2. u|ign the tip of the pan[:i! with the neadle.

Let's draw a circle.

Open the compasses. Press down the needle and turn the knob all the way

around keeping the needle fixed. You will see a circle made.

® ® @

A o

s
Draw a circle in the given space.

N




CHAPTER 9: INFORMATION HANDLING

9.1 Bar graph

Sara bu'_ra four types of fruits in different guantities.

She uses a picture graph te show the number of each type of fruit she bought.

O O

O
O

O
O

O
O
O

O
O
O

Apples

Bananas

Oranges

Mangoes

Each @ stands for 1 fruit.

We can read the picture graph by counting the % in each column.

Sara bought & apples, 2 bananas, 3 oranges and % mangoes.



We can also show this data on a vertical bar graph.

A bar graph uses bars Instead of pictures to show data.

5 ¥

m
3 3
2

/I

Secale

1 o
0

Apples Banonas Oranges Mangoes

We can find out how many apples, bananas, oranges and mangoes Sara

bought by reading the scale on the bar graph.

The bar at npp|95 goes to &, the bar ot bananas goes to 2, the bar ot oranges

goes to 3 and the bar at mangoes goes 10 i,

Ahmad collected books on different subjects as shown in the table.

We can also show this data on a bar graph.

E b m Humhﬂr 5
s of Books 5 —
English 1 H—
< |
Science 3 5
Mathematica 2 I f
Urds s | J M W W

Engl'mh Science Mathematics Urdu

| Read the scale and write the number of books Ahmad has.

English: The scale reads —L . Ahmad has ! English book.
Science: The scale reads . Ahmad has Science books.
Mathematice: The scale reads .Ahmad has ___ Mathematics books,
Urdu: The scale reads _____. Ahmad has Urdu books.
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We can also represent data on a horizontal bar graph.

The bar graph shows number of toys sold by a shopkeeper over four montha.

200 250 300 S Scole

in be read from araph.

(Fha bar graph shows different number of animals kept in a zoo. ]
i 3 | I— | | | |

[ | ] | I |
0 9 10 1§ 20 25

Read the scale and write the number of animals.




9.2 Line graph

Ahmad has flowers of 4 different colours. The following table shows

number of flowers of every colour, Ahmad has.

We can show this data on a bar graph.
Colour |Mumber of flowers
Red 2 y |
Yallow 3 3
Pink 1 5
Purple 4 1 I__
0 - 4 : .

Red Yallbw  Pink Fu.rpla

We can alse show this data on a line graph. On a line graph, instead of bars,

we Just put dota and join them by a line

o

/7

N L E Ch

SEU'E

—

Red Yellow Pink Purple
We can read the scale on the line graph.

Look at the dot above Red. On the scale, it reads 2.
This means Ahmad has 2 red flowers. Similarly, the scale tells us that Ahmad

has 3 yellow flowers, | pink flower and % purple flowers.

A line graph uses lines to show the data.
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Ali saves some money every month. A line graph below shows his
savings.

400
30 ;/’\L
,fﬁ'eag -#f’ffjlx“h \

Scale 100 \

: \

January February March April  May  June

Write the amount of money Ali saved every month.

200

January February 300 Maich 100

At 200 May 400 0

'..II.JI'IE

Look at the line graph below.

The line graph shows number of students in diffarent classes In a school.

a0

29
20 | i

5 15 /

10 ’

z a

Cloes 1 Closs2 Closs 3 C(Closa4 Class b Closs 6

Read the graph and write the number of students in each class.

Class 1 15 Class 4
Class 2 Class B
Class 3 Class 6
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